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A -3 -H2A(SH) - HEAMY - BES O AF K %Egﬁ HwsZ
AL 19,851,000 %25.4/1,000 505
AT 19,851,0002 *10/1,000 199
~LOIEIIQY BEE
504,2202 *40.5/1,000 21
201 Y2yl 13,545 13,856 A3
01 At eldl 9,345 8,756 589
OMBFEINHTAL 22| 5,805
—sHoHE M= 15021 #5, 00001 750
— S 2O 1,200,002 *1.53] 1,800
—FHESHIANEREE 802 15,00004 1,200
—ZHEXNS M 702! %14,00000 980
—CHEAENTY 35,0002 +58 175
—ZEEIIHEAL DB A2 150,000 62 900
OMGFTAZE S|
6,000 %42 x 102 62 1,440
O2AFEH URE 150, 0002 *2CH *42 1,200
OZe T278 K4 150,000 62 900
02 Zz2Y| 4,200 5,100 A900
ONEFUTAIZY SR 4,200
—UBRBR3 25021 *14,00021 3,500
~MLse3 2502 *14,00024 %20/ 100 700
202 OiHl 2,880 2,880 0
01 =Lhoib| 2,880 2,880 0
OMSZFSINHETAL Ot
20,0002 4 x62 62 2,880
NEEIN 25,919 33,685 A7,766
101 o121l 22,319 32,865 A 10,546
10 JAM2EZNE2 S 22,319 32,865 ~10,546
OBITHAL 2P LRI Y TAIRS 0121t 22,319
=z 35,5702 *4Z %212 x62 17,928
—fa8Y4Y 32,5702 *4% %262 3,388
—oixiag 32,5708 *42 62 782
AT 22,096,24021x10/1,000 221




SN SRR HRD

S Ot O XYM &=
|

=

SRl BANE ZA & = (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
201 ZEr=3H] 3,600 820 2,780
01 AtS2cld] 3,600 820 2,780
Ogelatet XAl CHLHZ X XI &
1,200& *3, 000 3,600
HH2IZH(ZEF M2 158,260 153,640 4,620
I 2 47,760 47,760 0
eI 2| 47,760 47,760 0
203 HRFL&H 4,560 4,560 0
04 REA2ILRFIH 4,560 4,560 0
OFANSEYRFAHI 380,000& 123 4,560
204 AP AH| 43,200 43,200 0
03 SZYR+=HEZH 43,200 43,200 0
OMSEHESFA 100,000& «36H x 12 43,200
Jl=&dl 110,500 105,880 4,620
JI=&Hl 110,500 105,880 4,620
201 LEHREH| 51,840 47,520 4,320
01 AR 2&cldl 51,840 47,520 4,320
ORKN2HI 60,0003 36 122 25,920
O=gtl 60,000& 36 123 25,920
202 O4Hl 56,160 56,160 0
01 =LHAHI 56,160 56, 160 0
OJl=gdRF=80l 130,000& «36& 128 56,160
405 XtobESHI 2,500 2,200 300
01 KA ESEH=HI 2,500 2,200 300
Odued] e (191.7m") 2,500,000 = 1CH 2,500




SN BERAD FOIMBT D
= 5t

M MASES MEQ A
el FED|FMBRE 1@ LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ST F0UMEX A 45,419,819 43,582,867 1,836,952
= 19,445,694
= 660,689
= 6,654,218
Al 18,659,218
HNASES MEotd X3 19,755,588 15,099, 960 4,655,628
= 13,061,561
== 2,125,608
Al 4,568,419
20| =ME8E X 17,714,940 14,016,057 3,698,883
= 12,400,457
& 1,594,345
Al 3,720,138
22AS532H K& 166,548 141,747 24,801
= 116,583
= 14,990
Al 34,975
301 KEt2AS 166,548 141,747 24,801
= 116,583
= 14,990
Al 34,975
01 MIBEHHZ2 166,548 141,747 24,801
O2ZASSH X3 38 166,548,000& 166,548
= 116,583
== 14,990
Al 34,975
IZMEEN MY (L 12,668,008 9,979,310 2,688,698
= 8,867,605
& 1,140, 121
Al 2,660,282
301 dE8BAZ 12,668,008 9,979,310 2,688,698
= 8,867,605
= 1,140,121
Al 2,660,282
01 MIBEHHHZ2 12,668,008 9,979,310 2,688,698




SN BERAD FOIMBT D
= 5t

FH: HASES Mol al
el ROD|EMEEE Y (9l &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OJZMEEH MASH(LE)
2 & 12,668,008,000& 12,668,008
= 8,867,605
= 1,140,121
Al 2,660,282
IZHESBE =20 3,484,705 3,014,060 470,645
= 2,439,294
= 313,623
Al 731,788
301 etEazs 3,484,705 3,014,060 470,645
= 2,439,294
= 313,623
Al 731,788
01 AIE2HE =63 3,484,705 3,014,060 470,645
OJIzMas8s =)A=
Z 3 3,484,705,000& 3,484,705
= 2,439,294
= 313,623
Al 731,788
IIZMEBZE W3¢ 873,650 653,180 220,470
= 611,555
L= 78,628
Al 183,467
301 LetEd=z 873,650 653, 180 220,470
= 611,555
< 78,628
Al 183,467
01 Al2HA53 873,650 653,180 220,470
OJz=das8d sz
2 & 873,650,000& 873,650
= 611,555
= 78,628
Al 183,467
IIZMESB T ool ZFHZ0 80,333 68,500 11,833
= 56,233
& 7,230
Al 16,870




SN BERAD FOIMBT D
HE: HASS M
cel: =0

SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
301 utEa=s 80,333 68,500 11,833
= 56,233
= 7,230
Al 16,870
01 A2HA353 80,333 68,500 11,833
OINZMBLE &, ZH S
& & 80,333,000 80,333
= 56,233
= 7,230
Al 16,870
MNASE UX Ex3 441,696 0 441,696
= 309, 187
& 39,753
Al 92,756
301 Lptsazg 441,696 0 441,696
= 309, 187
= 39,753
Al 92,756
01 A2 E 03 441,696 0 441,696
ONMASE NUX X2 X8
2 & 441,696,000 441,696
= 309, 187
= 39,753
Al 92,756
el HEs K& 1,318,500 428,700 889,800
= 192,000
= 455,350
Al 671,150
==X 200,000 170,000 30,000
= 160,000
= 20,000
Al 20,000
301 Lptsazg 200,000 170,000 30,000
= 160,000
& 20,000
Al 20,000




S A
X XH .
(=

chel:

S ERRPE o e B RS2
01 Atg 200,000 170,000 30,000
OFAN=1-PNDN 2 & 200,000,000 200,000
= 160,000
< 20,000
Al 20,000
MNASHE ol 4,500 10,000 5,500
= 1,350
Al 3,150
301 LBt 4,500 10,000 25,500
= 1,350
Al 3,150
01 Atgl 4,500 10,000 25,500
OMASHE B
23 4,500,000 4,500
= 1,350
Al 3,150
& RAAHE 40,000 26,700 13,300
= 32,000
& 4,000
Al 4,000
301 Lptsazg 40,000 26,700 13,300
= 32,000
L= 4,000
Al 4,000
01 Atgl 40,000 26,700 13,300
OXt&t &
Z2 & 40,000,000& 40,000
= 32,000
< 4,000
Al 4,000
FAINIE eSS SA 1,074,000 0 1,074,000
L= 430,000
Al 644,000
301 gt 1,074,000 0 1,074,000
= 430,000
Al 644,000




SN BERAD FOIMBT D

HE: HASS MHUF KW
el TAS NS XY Rk
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
01 AME2HEE=S063 1,074,000 0 1,074,000
ORIJIDIE Rst=s 1,074,000,000& 1,074,000
o= 430,000
Al 644,000
s S st HEAS 722,148 655,203 66,945
= 469,104
= 75,913
Al 177,131
E22 Akl (=28]) 670,148 584,051 86,097
= 469,104
& 60,313
Al 140,731
101 @Il 670,148 584,051 86,097
= 469,104
& 60,313
Al 140,731
10 JIZtHZ2Z2NSES 670,148 584,051 86,097
OX&ZZ2 AL (=24]) 4 & 670,148,000& 670,148
= 469,104
o= 60,313
Al 140,731
AEZ2 A EI(EY]) 52,000 70,000 218,000
& 15,600
Al 36,400
101 ol t| 52,000 70,000 A 18,000
& 15,600
Al 36,400
10 JIZtHZ2Z2NSES 52,000 70,000 218,000
OX&Z2Z2 A (&) 2 & 52,000,000& 52,000
= 15,600
Al 36,400
2aogs L & 11,510 18,500 6,990
LESUHA XA 11,510 18,500 6,990
SHIMITA L2tX S22 8,000 15,000 A7,000
201 Letd| 8,000 15,000 AT,000




SN B FOAMBNADY
Ma: 22085 o K
ol eEsHA g (5l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
01 AtR22lt] 8,000 15,000 7,000
ORUDAY LAX BD 448
2,000,0002! *4% 8,000
SESHAX 25U N 510 500 10
307 eI2t0lH 510 500 10
NEEEEEET 510 500 10
ORESUAN 25U (FY0, 0l 01S)
30,0002 172 510
HAYR ZHH X 3,000 3,000 0
307 eI2t0IH 3,000 3,000 0
NEEEEEET] 3,000 3,000 0
O OIAL X FHIbI 500,000% 6% 3,000
28t= 1 21,554, 183 15,898,886 5,655,297
= 6,384, 133
= 236,549
= 4,016,285
Al 10,917,216
EETTE 18,429,556 3,667,780 4,761,776
= 5,751,260
= 2,980, 184
Al 9,698, 112
AR BAEH X 1,822,640 661,800 1,160,840
01 YerEaz 1,822,640 661,800 1,160,840
01 MEI2ZEId2 1,822,640 661,800 1,160,840
OMMOIA Tt 282 X & 67,040, 0002 67,040
OAMOIY XHH OISSYF4Y
1,455,600, 0002 1,455,600
OMMOI4 XA B4 =52 300,000,0008 300,000
NASS U Y42 X 24,696 26,600 ~1,904
307 BI2t0IH 24,696 26,600 A1,904
05 2I2SIE3 24,606 26,600 A1,904
OMASE THH BSAE U4R X
98,0002 212 * 122 24,696
SEIAN 24DS 20,500 26,120 75,620
= 8,200
= 6,150




SN BT FOIMEXAD
By B985 Kd
ol IR0t S (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
EKUM BN Al 6,150
301 Lptsazg 20,500 26,120 25,620
= 8,200
L= 6,150
Al 6,150
10 BAIAHIEANS 20,500 26,120 A5,620
OE=+uw=tHl Xag 2% 20,500,000 20,500
= 8,200
= 6,150
Al 6,150
QIIESAIE ESWAL HSIHAHI 872,934 936,000 AB3,066
= 235,692
Al 637,242
307 QI2toId 872,934 936,000 A 63,066
L= 235,692
Al 637,242
02 SltFAExX 872,934 936,000 AB3,066
ORIZESAIE EFUWAL HRH&H
2 & 872,934,000 872,934
= 235,692
Al 637,242
ZOHOF, SHOtEtWA E=Z2H 125,400 87,060 38,340
= 37,620
Al 87,780
307 QI2toId 125,400 87,060 38,340
L= 37,620
Al 87,780
02 BltFaEx 125,400 87,060 38,340
OZOoH BB WA E22Y
2 & 125,400,000 125,400
= 37,620
Al 87,780
SFAE At 130,550 127,750 2,800
307 QI2t0IA 130,550 127,750 2,800
02 2AAEX 130,550 127,750 2,800
OESAE Yty 130,550, 000& 130,550




SN BT FOIMEXAD
By B985 Kd
o9 YRS (SHol:®el)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
EFAE Ots2HAlH| 649,500 324,000 325,500
307 gQiz2tol™ 649,500 324,000 325,500
05 QIZtREZ 649,500 324,000 325,500
OO0t=2tAll| 649,500,000& 649,500
SFAE wiwPd X2 103,049 45,450 57,599
= 41,220
& 18,549
Al 43,280
307 gQiz2tolA 103,049 45,450 57,599
= 41,220
L= 18,549
Al 43,280
02 QltFAE=xX 103,049 45,450 57,599
OESA4E DML 7Hl XA
438 103,049,000& 103,049
= 41,220
& 18,549
Al 43,280
ANZAAEE BsAd 2E XA 30,800 40,800 A 10,000
L= 9,240
Al 21,560
307 2IZ2t0lA 30,800 40,800 210,000
& 9,240
Al 21,560
02 QtFAE X 30,800 40,800 A 10,000
OAMZIHEE BEAE 2HXA
2 & 30,800,000& 30,800
& 9,240
Al 21,560
N NS 888 EFAl4 2l 600 0 600
301 YBtEa= 600 0 600
12 JIEI2 &3 600 0 600
ESAE AEBEZAL TGS AR 24|
5,000& *8H *153| 600
FANOtESHER2SE 57,600 103,676 246,076
& 17,280




SN ERAT FMBX D
o PSS X
S9 YR0IES k)
SH-EH . C(BH) - NRAY - BES Ofl AF o4 glggi; bRz
HHOIEEHESY Al 40,320
307 21201 H 57,600 103,676 £46,076
= 17,280
Al 40,320
CIEIEPNEES 57,600 103,676 46,076
OZHO B8 ZFAL X2
HF 57,600,002 57,600
= 17,280
Al 40,320
HANL BRI 332,685 751,868 A419,183
= 89,825
Al 242,860
01 YsBAZ 332,685 751,868 A419,183
= 89,825
Al 242,860
IIEEEEETE 332,685 751,868 A419, 183
Oy 282 2 332,685,0008 332,685
= 89,825
Al 242,860
KA Mind-up School 2 4,000 4,000
201 Ysregy| 4,000 4,000
01 AR 22l 4,000 4,000
O e 500, 0002 *2% *43] 4,000
ASLF2X 2 10,871,580 5,043,260
2 4,348,632
= 1,956,884
Al 4,566,064
01 YurBAZ 10,871,580 5,043,260
2 4,348,632
= 1,956,884
Al 4,566,064
JEEEEESE 10,871,580 5,043,260
OXEESE X H 10,871,580,0008 10,871,580
2 4,348,632
= 1,956,884




SN BT FOIMEXAD
By B985 Kd
o9 YRS (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 4,566,064
QI5NIOIRAESS X3 1,673,280 1,673,758 AAT8
= 669,312
& 301,190
Al 702,778
301 YBtEa= 1,673,280 1,673,758 ANAT8
= 669,312
= 301,190
Al 702,778
01 AMIIEBEHESGZ3 1,673,280 1,673,758 VAV V4]
Oo5H0F PHES2 TR
Z2& 1,673,280,000& 1,673,280
= 669,312
& 301,190
Al 702,778
ZoHotRAESS N 539,396 276,960 262,436
= 215,758
L= 97,091
Al 226,547
301 Lptsazg 539,396 276,960 262,436
= 215,758
L= 97,091
Al 226,547
01 A2 E=063 539,396 276,960 262,436
OFOjOt LUBSE K&
4 & 539,396,000& 539,396
= 215,758
= 97,091
Al 226,547
SHHIMEEZ XA 935,091 345,910 589, 181
= 374,036
& 168,317
Al 392,738
301 dotEaz 935,091 345,910 589, 181
= 374,036
& 168,317
Al 392,738




SN BT FOIMEXAD
By B985 Kd
o9 YRS (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 MIBEHHZ2 935,091 345,910 589, 181
SHEOIA B2 A&
dA& 935,091,000& 935,091
= 374,036
= 168,317
Al 392,738
SSAE0/018 OIsLFXA 78,500 0 78,500
= 31,400
== 14,130
Al 32,970
301 LBt A= 78,500 0 78,500
= 31,400
= 14,130
Al 32,970
01 MIBEHH=HI3 78,500 0 78,500
OAIZ0|0IE OtsE=X& 78,500,000& 78,500
= 31,400
o= 14,130
Al 32,970
EFAIE SAXA o1AHH K& 156,755 0 156,755
= 62,702
== 28,216
Al 65,837
307 QI2t01A 156,755 0 156,755
= 62,702
== 28,216
Al 65,837
02 0I2tFAE X 156,755 0 156,755
OAZHIE BSAE oA 148,400, 0002} 148,400
= 59,360
& 26,712
Al 62,328
OiHers olAH| A& 8,355,000& 8,355
= 3,342
o= 1,504
Al 3,509




SN EED FOUMBXAD
H: PSIIE X

cHol: OtS =X A (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OtE=Al X& 2,283,874 1,543,276 740,598
= 194,000
236,549
& 851,731
Al 1,001,594
2EAEIE & JHERIEOls XI& 28,022 24,158 3,864
= 14,011
Al 14,011
301 ptEasg 28,022 24,158 3,864
L= 14,011
Al 14,011
01 A2EA53 28,022 24,158 3,864
OaxEAUEIME & JIEAE0s K&
2 & 28,022,000 28,022
= 14,011
Al 14,011
AEAEINE 2=H K& 12,600 12,600 0
= 4,704
= 1,260
Al 6,636
301 LetEd= 12,600 12,600 0
= 4,704
& 1,260
Al 6,636
01 A2 E =03 12,600 12,600 0
OAEAHIE 2=Hl N&
Z2& 12,600,000& 12,600
= 4,704
= 1,260
Al 6,636
HEEOts N&E 65,520 63,840 1,680
= 54,600
= 6,552
Al 4,368
301 Lptsazg 65,520 63,840 1,680
= 54,600




S A

SET FUHEX AN

M U= 1
& ots=X XA
SN EY O (BH) - MRAY - BLS Aol e
301 getEazg & 6,552
Al 4,368
01 AM3B2EH=EZ3 65,520 63,840
OJtE2IE0ls 2=sHl XA
Z2 & 65,520,000 65,520
= 54,600
& 6,552
Al 4,368
ZAOS SAXNJA(EY X ,5,44]) 1,181,632 596,529
= 177,245
& 295,408
Al 708,979
301 YotEaz 1,181,632 596,529
= 177,245
= 295,408
Al 708,979
01 AMSEEH=H3 1,181,632 596,529
OZA0IS SAXH(BYE, 5, 44)
1,181,632,000& 1,181,632
& 177,245
< 295,408
Al 708,979
ZA0IS SAXA(LESs =4) 280,000 210,560
L= 140,000
Al 140,000
301 getEazg 280,000 210,560
& 140,000
Al 140,000
01 ASIE2EE=63 280,000 210,560
OZA0IE BAXA (LS F4)
a4 & 280,000,000& 280,000
= 140,000
Al 140,000
ZAOSSANIA(E . Y, 35L &4) 297,500 233,689
= 297,500
301 dotEaz 297,500 233,689
& 297,500




SN EED FOUMBXAD
H: PSIIE X

o9 OIS =X X Rk
SN S(B) - NRAY - B2 O] &k o8 e =2
01 AM3E2HEE=2063 297,500 233,689 63,811
OZAlols SN (E, &, 35L 54)
23 297,500,000 297,500
< 297,500
AEotsdH 294 X2 388,000 375,100 12,900
= 194,000
L= 97,000
Al 97,000
307 glz2told 388,000 375,100 12,900
= 194,000
= 97,000
Al 97,000
02 BlZtFAE=X 388,000 375,100 12,900
OX%0tsdH 234l XA
2 & 388,000,000 388,000
= 194,000
< 97,000
Al 97,000
S39 & AL N& 20,000 20,000 0
307 glz2told 20,000 20,000 0
04 BCIZtHALE X 20,000 20,000 0
OHM73 &2 g 2x=0| 20,000, 000& 20,000
A80ts =4 10,600 6,800 3,800
201 Lt 9,400 6,800 2,600
01 AtS2eld] 9,400 6,800 2,600
OR0F & g2 Lpt=ZH| 2,000,000& 2,000
Odu=s & HE=2usE A+
150,000& *203] 3,000
OO0ts#0lna 2A=Z
30,0002 21t 2*2A| 2+%153] 1,800
OO0t=#0luWa M=l 20,0003 2t =*153] 600
ORSEXNAUY SE SLELs 23
250% *4,000% 23| 2,000
203 YRF&H| 1,200 0 1,200
03 AIMZFAAS =LY 1,200 0 1,200
OXgotsdH 294 23
20,0003 15 »23| 600




SN EED FOUMBXAD
H: PSIIE X

@ otssA XA (St &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OESAIE 3 23T 20,000& x15H x23| 600
SHER JIE X 840, 153 687,430 152,723
= 438,873
= 184,370
Al 216,910
HAS S22 (A2 AZE) X (AHEHEHS) 548,593 427,480 121,113
= 438,873
== 54,860
Al 54,860
301 dE8AZ 548,593 427,480 121,113
= 438,873
& 54,860
Al 54,860
01 MIBEHHHZ3 548,593 427,480 121,113
OMAS SH22IHH (A2 42K (
sl , 182, 0S¢ <=Hl)
38 548,593,000& 548,593
= 438,873
< 54,860
Al 54,860
H;’tg SIERIIE (A2, AZ2E) NI (SSH2] 265,520 236,400 29,120
= 129,510
Al 136,010
301 et AS3 265,520 236,400 29,120
& 129,510
Al 136,010
01 MIBEHHHZ3 265,520 236,400 29,120
OMAS SH22IHH (A2 A2E)K(
SESEMSHIS) g3 265,520,000 265,520
< 129,510
Al 136,010
HAS stE2IIE (A3, AZ2E)XS 26,040 23,550 2,490
301 LE8BAZ 26,040 23,550 2,490
01 A E&EE5= 26,040 23,550 2,490




SN BT FOIMEXAD
By 9805 Kd
chel: BED OIE X (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OMAS StEDIIE(A2Y,AZHE)X2(
2=SHo{sid|, S dEH|) 26,040,000& 26,040
HIB0Y U YHBS 235 = 600 400 200
H32 oY ¥ YHBS DS 600 400 200
201 LB IH| 600 400 200
01 ArR2t2|bl 600 400 200
OUHHEHS WK SAEH 500,000& *13| 500
Os+2H&E S Litx=SH| 100, 000& 100
Lol =X &8 2,479,618 10,898,921 8,419,303
= 176,885
= 360,701
Al 1,942,032
HNAS Lo HS MEotE X 1,334,500 7,875,909 6,541,409
= 124,773
= 307,429
Al 902,298
I ZMESE Lol & sHhety| 272,500 212,160 60,340
= 109,000
Al 163,500
301 22 AS 272,500 212,160 60,340
== 109,000
Al 163,500
01 A E&EE56= 272,500 212,160 60,340
OJEMEBLE LoDl YSuey X
A E 50,000& x1,090AI CH x5 272,500
o= 109,000
Al 163,500
dE2ANE 2224 K& 818,100 909,000 90,900
= 114,534
= 122,715
Al 580,851
307 QI2t0lA 818,100 909,000 90,900
= 114,534
= 122,715

Al 580,851




S A
X XH .
(=

chel:

MET A
=7l
|5 MBI S (9l &2
SRl (B1T1) - HISAIY - BA S gggf; HRS2
MEX 818,100 909,000 90,900
o 2224 X
d& 3,000 1,010 270 818,100
& 114,534
< 122,715
Al 580,851
MNAS MO0l AAF BHE 56,700 63,000 6,300
= 9,639
= 12,474
Al 34,587
| 56,700 63,000 26,300
= 9,639
o= 12,474
Al 34,587
MEX 56,700 63,000 6,300
OMAS THIH=Ql AAF HIE XI&
A& 3,000 *70YH x270L 56,700
= 9,639
[ 12,474
Al 34,587
2 olAb| 134,400 115,320 19,080
== 63,000
Al 71,400
& 134,400 115,320 19,080
= 63,000
Al 71,400
AEZX 134,400 115,320 19,080
FAFR Q1A H| a3 134,400,000 134,400
o= 63,000
Al 71,400
fies XA 50,400 42,000 8,400
H 50,400 42,000 8,400
MEX 50,400 42,000 8,400
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2AM: =
9
Rl A

_ _ SIEN
SN B SRA(SIH) - MBAY - BAS Arol e HlnE2
12 JIEt2 &3 46,000 43,000 3,000
ORE=E4 200
—JIEt RF 50,000& x4 24 200
OASEHYX2 & HEHGY 41D B& =3 300
—JIEH AES 9 A
50,000& 64 300
oHstd AZ9 SAtelldl Xz
35,000& 10 x10 3,500
oRzdgsad FHXIR
,000& * 14001 &+ 123 42,000
405 XH&HFESH 200 1,700 21,500
01 XA ESS 200 1,700 A 1,500
OUENZEE 200,000& 15 200
SSM2e| 6,150 6,900 AT50
201 ZEH2EH| 3,000 3,750 AT50
01 AtR2cldl 3,000 3,750 AT50
OSsEX ZHEAM HE 2= MA
5,000& *6000H 3,000
301 LptEasg 3,150 3,150 0
12 JIEI2 A3 3,150 3,150 0
oguzs=+ = Atelltdl Xi=
35,000 *30 3L 3,150
S ASEALY 1,742,569 1,916,814 A174,245
SAN=s & =X 2 1,742,569 1,916,814 A174,245
=XNAEE /X 558,765 641,665 282,900
201 LBr2dd 10,500 10,500 0
01 AR &cldl 10,500 10,500 0
ogx=z 10,500
—2x % 350,000 »30CH 10,500
401 AIEHIZL=2OY| 548,265 631, 165 282,900
01 Al&HI 544,206 626,458 A82,252
FREZY 127,852
—Z2| 230& *180,865m" *33] 124,797
—HHHA 2303 *13,280m *13] 3,055
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S At 248,510
—&CI 24D 2303 *103,070m *33] 71,119
—&CH= 4403 +103,070m" x32] 136,053
—2=SH= 4403 +8,675m 33| 11,451
—&428A 550 +8,675m 13| 4,772
—FSELUR HE 870& *7,610m*33] 19,863
—FEUR H= 4403 *3,077m 33| 4,062
—oHLiel 2&E 1,190& +1,000m* 12 1,190
027 (LB MEEBR2S I M) S A
H2 22l S A 127,844
—&HCI 20| 2303 *41,330m *33] 28,518
—&O M= 4403 +41,656 M x32] 54,986
—2=2H= 4402 +7,030m" x32] 9,280
—4=SHE 550& *7,030m" 13| 3,867
—FELUR HF 870& %8, 705m*32] 22,721
—FASUSR M= 4403 3,258 M 33| 4,301
—Jittel 2&8E 1,190& +3,505m* 12 4,171
Os&J| gstzs Lot ESsAld &X
=\ 10, 000& *2,000m 20,000
OMaH?E == HMHSA 100, 000& »200== 20,000
03 AlZ=0Hdl 4,059 4,707 A648
OFREZY SAI| SA
127,852,000 *0.72/100 921
O179 sXAEE el SA
248,510,000% x0.72/100 1,790
0279 =XAES 2el3At
127, 154,000& =0.72/100 916
OsZ)| g3tzZs Lol 2EsAl4 &X
S A 20,000,000& *1.08/100 216
OMoi?E == HMHSA
20,000,000 *1.08/100 216
2= L =F 72 616,447 795,102 A 178,655
401 AIEHIZLROY| 616,447 783,646 A 167,199
01 Al&HI 611,840 777,814 A 165,974
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M CA=SAY
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_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
OXtz= sxzel BA 81,593
—HEIIX % OHRIA
5,37021 1, 224533 19,719
—IIRA(HBUSR) 2RE
51,2503 x1,045= 53,557
=2 2F 24 241,500& 20 4,830
—t2=2 M= 4403 %1,981F=+42] 3,487
ON24 o ZFL HHE LHIBA 168,635
~DS MY L PHLH
4, 74021 +675 251 +3,813% %60/ 100 130, 131
—B2 Y L PHLH
1, 1803 65 23] *9,064 m x30/100 38,504
OHBLIRUIHEY +2AFAZA
5,390& +1,336=F*23] 14,403
OXUS SR 2l SAt 197,206
—goE o 56,3802 2, 283% 128,716
—dEHH 30,000& 2,283 68,490
OJE= =8XEZA 71,4303 %2, 100=F 150,003
03 AlZ=201dl 4,607 5,832 21,225
OX}=24 SXBIBA
81,593,000 *0.9/100 735
O%}24 ¢ ZZ4 BHS LRBA
168,635,000& x0.72/100 1,215
OHBLIRUIHEY +2AFAZ A
14,403,002 1.08/100 156
02U SXZIZA
197,206,000% *0.72/100 1,420
OX}24 +HEBDA
150,003, 000& x0.72/100 1,081
JtlzEd |A 2 145,987 115,790 30,197
101 el2h] 27,147 28,010 A 863
10 JIZtH2Z2ASE* 27,147 28,010 A 863
OBATH ¥ sX22l ARY 26,697
-J1=23 35,5702 %3 * 1932 20,596
—s3susy 35,5702 +323 x392 4,162
— oAt 35,5702 %3% %92 %61
—dHEEE 25,718,000& *38/1,000 978
OXZ&F R AL T=| 450
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— A3t 80,000& »3H 240
201 B2 15,080 15,080 0
01 At 2eld] 6,400 6,400 0
O=Xgd 228 MA(AUEZ, VY, 8=
&4=) 5,000& x2000H x4 3| 4,000
O=XgdE JlE =84 200,000 * 123 2,400
02 ==29gtl 8,680 8,680 0
OAI&&Hl SXId| 8,680
—=X&H |22 L FUOIHS
g) 300,000& *12& 3,600
—S MO s X 22l 5,080
- 2FRU(FR) 1,300 *802| &4 *203] 2,080
- =24l 200,000& 32| 600
-5 FYl 8,000:& *300H4 2,400
206 M=l 103,760 72,700 31,060
01 &l 103,760 72,700 31,060
O=sXAd22e 28 FLU(S, &, 82,2
GEIN-PSONIR=)| 75,0003 *10&*103] 7,500
OJt2stz Fe 80,000& 10274 8,160
OZXd4 MISEHAMNME AL (2H7LY)
10,000& 2,000 20,000
OJNZ2Y AHHE 2 7Y 68, 100
—=SZ(HX) 300& *25,000 7,500
—HEZ 19,600
- Mets 2,000& 2,000 4,000
AHII L] OF 600& *6,0002 3,600
- HIFLIOH S 48 300& *40,0002 12,000
—JI2Z(=28) 2,200& x10,0002 22,000
—ASZ (22 F) 1,500& x6,0002 9,000
—OFM 3} 2,000& *5,000& 10,000
ZENEE 21 22 421,370 364,257 57,113
101 ol t| 53,923 81,840 AN2T,917
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OAE=XtE 22 ¢ 16,175
—Jl2a 35,570 »2H 118 8,395
—5222E 35,570& 2% 1, 5%48L 5,123
— RS2 35,5703 x2H »24 1,708
—AXtsg 35,5703 »2H x5 356
—MHEEE 15,582,000:& *38/1,000 593
O=slfM4SHeld ¥ 22E 22 2URY 36,998
=] 35,5703 »3H*213 22,730
-5 35,5703 x3E »1.5x46 7,363
— R 35,5703 »3H 43 4,589
PN I =y 35,570 x3H 9 961
—dMHEE=E 35,643,000& *38/1,000 1,355
OXZANESHA2el 2 0=l 750
&5 70,0003 x5H 350
— &3t 80,000& x5H 400
201 eI 105,500 32,640 72,860
02 =&29gHl 105,500 32,640 72,860
O=33g= & AMA 105,500
—=X,323X 23223 (3&, =54
SEX2EES) 36,000
rSPIE=a 3,000,000 x12& 36,000
—2501% 323 (HIE)
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—2=501% 323 (&ot=E)
2,000,000 674 2~ +3& 36,000
—2=01& | 2z 2E8x
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—02l0I=s0IEHAIE & &HIIANE S 2t
AL =2 400,000 204 2~ 8,000
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01 A&l 261,000 248,110 12,890
OZ3 HEol=0leH & &2Z&, =AU Al
2= 2 @ SA2HUSAM
2,500, 000& *32JH &~ 80,000
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22,000,000& *27 2 44,000
O0&ol=0lH Haze
1,562,500 3201 2 50,000
OZ382X, = S ZelS A
70,0003 *300== 21,000
03 AlZ=201dl 947 1,667 AT20
OZ& 0Elol=0IH AlEE 2+ & |
el S A 80,000, 000& *0.9/100 720
O333X, =X S ZCISA
21,000,000 *1.08/100 227
SMETE B 527,189 808, 864 A281,675
= 79,647
= 26,935
Al 420,607
SMETR B 54 527,189 808, 864 N281,675
= 79,647
= 26,935
Al 420,607
A= YA 40,458 34,028 6,430
= 16,183
= 7,282
Al 16,993
101 el 33,840 30,647 3,193
= 13,536
L= 6,091
Al 14,213
10 JI2ZtH22 Xt 33,840 30,647 3,193
OXt2 Y 8F& £ 33,840,000 33,840
= 13,536
= 6,091
Al 14,213
201 ZEH23H] 450 400 50
= 180
& 81
Al 189




SR BAAMD
SYTE 25
2T 25 84

SA - EH .S (BH) - MBAY - B Ao gggf; HRS2
01 AtR22id] 450 400 50
O«r2 &3 24| 450,000& 450
= 180
< 81
Al 189
202 O4Hl 500 240 260
= 200
= 90
Al 210
01 =2WAbI 500 240 260
Ou=2 83 &S| 500,000& 500
= 200
o= 90
Al 210
206 M= 5,668 2,741 2,927
= 2,267
= 1,020
Al 2,381
01 M= Hl 5,668 2,741 2,927
OJf el &l 3HEH| 2,468,000& 2,468
= 987
< a4
Al 1,037
OsUE2EI(HM=2) 3,200, 000& 3,200
=2 1,280
< 576
Al 1,344
At HalsE 2l 3,656 3,544 112
= 1,889
& 530
Al 1,237
101 Q14| 3,656 2,183 1,473
= 1,889
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PN SEF S
M MY ES
ool ARITIE P95 84 (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
10 JIZtH22ASES 3,656 2,183 1,473
Ol o S LA 3,656
—EEHOH NABH o=
3,656,000& 3,656
= 1,889
= 530
Al 1,237
MEES 23 ALY 50,954 41,770 9,184
= 30,571
= 10,192
Al 10,191
101 @Il 50,954 41,770 9,184
= 30,571
= 10,192
Al 10, 191
10 JIZtHZ2Z2NSES 50,954 41,770 9,184
ORI RS 2 5AN (Q121H]) 48,946,0002! 48,946
= 29,367
< 9,790
Al 9,789
Ol B2 At (W SH|) 600,000 600
2 360
= 120
Al 120
Ol 8 S 23t At (2 CHYl) 1,408,000& 1,408
2 844
= 282
Al 282
25 2tel 16,000 0 16,000
= 1,605
L= 3,195
Al 11,200
401 Al&HIZ =20 16,000 0 16,000
= 1,605
& 3,195
Al 11,200
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 AZHb| 16,000 0 16,000
0254 FHFY| 16,000,000 16,000
2 1,605
= 3,195
Al 11,200
22 4 Rl 48,518 81,212 132,694
=2 29,399
& 5,736
Al 13,383
101 QI8 48,518 81,212 £32,694
= 29,399
= 5,736
Al 13,383
10 JIZH22NELS 48,518 81,212 32,694
OTZAIIIRII(21248]) 26,693,000 26,693
2 16,016
= 3,203
Al 7,474
OZZAIIPII(MBEAME) 16,853,000 16,853
2 10,112
= 2,023
Al 4,718
OZZAEIRIN(DRYI) 720,000 720
2 720
OZZAIIRII(LTHYI) 4,252,0002 4,252
2 2,551
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Al 1,191
MRTE 25 Y 8K 22 367,603 618,365 A250,762
101 Q1A 222,009 236,415 A 14,406
10 JIZH22NERS 222,009 236,415 A 14,406
OLEZAIR (FAREE) ALY 158,344
—J1=3 35,5708 %2294 x 1062 82,950
—pYaRsy 35,5708 %2281 1, 5+432 50,474
—R25Y4+Y 35,5702 x222 212 16,434
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— X 35,5703 x22% x4 3,131
—MHEE = 152,989,000& *35/1,000 5,355
OLtESZAIE (ZAE) o2 22,080
—JlEs 36,3702 +3H 106 11,566
—Fd22Y 36,3703 *3H x1.5%43Y 7,038
—-R=5d+E 36,3703 x3H 21 2,292
— X ==E 36,3703 x3H x4 437
—MIEE S 21,333,000& *35/1,000 747
O&XIESHZAIR 212 Y 32,253
A== 35,5703 x4 H 118 16,790
—5422E 35,5703 x4H x1.5+48Y 10,245
—RS5gY 35,5703 x4 24 3,415
R PN 35,5703 »4H x5 712
—dNHEES 31,161,000& *35/1,000 1,091
Odt=2Z A2 (ZAIE) TI=Hl 7,250
—&lots 100, 000& *25% 23] 5,000
—or& gt 80,000& »25H 2,000
—SXE 10,000 25X 250
Od=2&stty m=d| 1,450
—dst=s 100,000 x5 23] 1,000
— Ot S} 80,000& x5H 400
—SAE 10,000& x5 50
O&XIE 2 AR T =5H| 632
&5 70,0003 x4H 280
— st 80,0003 x4H 320
— 2% 8,000& 449 32
201 B2 32,310 18,800 13,510
01 At 2eld] 24,810 9,000 15,810
o1l =l 1,800
—MENsE U AAEE 7Y
300,000 6 13| 1,800
ORdE=41D] 2 700, 0003 * 194 13,300
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O14s U8 X 1,855,000 %2l 3,710
o3| 6,000
—AEYXHHES 22T SI(2, 0
23) 6,0002 * 102 1002 6,000
02 TT2YH| 7,500 7,500 0
O2=e2 2 MM 2,700
—UeX YN 2ER Y 2223 1,200
nERE2 400,000 *2CH 800
HOIZA 242 50,0004 #2CH 100
BN 2L 75,0008 *2CH 23] 300
—EHEYRITY L SHEIT A (A
&, 22I1) 500,0002! *2CH 1,000
—MEAANE PEI DF 22|
50,0002 * 10CH 500
ORtg Bt 4,800
— OIS XYHAY R
200,000 *2CH * 122 4,800
206 Mzl 2,200 2,200 0
01 Mzl 2,200 2,200 0
OSLHE %M 7 2,200
— B 10,0002 * 100 1,000
— &R 10,000 %100 1,000
— S YNE 0123 S 2EHY P
o 50,0008 *2% *23| 200
401 ASHLLHY 111,084 360,950 249,866
01 A&H] 110,040 357,932 247,892
0254 RNz 3,750, 00048 30,000
OS&2 =4 AWBA 13,8008%5,800% 80,040
03 Al&=Chl 1,044 3,018 A1,974
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30,000,0002 *1.08/100 324
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80,000,0002 x0.90/100 720
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Og&0lstd elAy| 2,760,651
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—&0=3 268,290
- J|Zg 912,550 *49H *4 3] 178,860
A2 912,550& *49F *23] 89,430
— XA 912,550 *49Y x53] 223,575
— MG 130,830
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- JHHI 2 =4I 110,000 #4912 64,680
- WSS X 140,000 *49H » 12 82,320
—HEF Ot
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ORNSZYR XY 370,0008 * 128 4,440
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ofl
’J
oF
oJ

ol
~0
0 ™J
= 3l iH
U — O
AN
0
tal oF
oF) Wl B0
Ko 20 )

= A
)

X ZH

00J

C]

Q 8 b 21818 S
L © < R B N
| ¢ o 4| | = ©
N W <t A —
Ko | < <
E
D
> N 2 81818 o
S S & Sl=|8
Sy ] 3 SRR
WHar | = © ©
mz | ©
KIS
N~ — Yo} — [0 0] — Lo [aN] o0} — Lo Al (@] o o o (@) o o o o (@) o o o o o o o
IeB8R8RrEEBREZBIER 8 B 8 8 88 8 8 88 8 8§ 8§
N S S8 Slo| 33 ® © - - o - - ~ - © ®
N A o
G = =
<
=
mr W = mr oW = m W =
I+ Ik ol ol %0 of bl ~ ~N BB =
g 8 * X 28 8 =< <X 3 8 S
s 5 3 z xS ¥ S S T 7
or o)) < = ) o o o) x ~ OF o o
X0 > > Z S s 3 3 oF x 8 & o
T ¥ ¢ dxS~ S g. 8BS g 8
o) 8 8 = SUg sy S W o 2 :
' £ L & x +e < s S T T o
a0 — -~ S LA .2 =8 30 T
= s e - i
= Fo F a0 oF <k s
= I 3 ol oJ = T 1 =< ~ ol = _
= B0 3 o - | w o= om0 @ s K Ko
. 0H = L W+ o
~ = = = = 2 5 Uo B0 o = @ x
= Bt 3w ow ¢ W oKW T m & o 2
ol o o o oir o o i <N 7l H W W o
F =K 7 @ =# =@ ®@ & w & W o o of -
orf_ o wlaolz @8 & ® o] mm o oF oF oﬂm_ oo o5 9
U A0 - wl omz O3 0 i = 2 ERE 0 (TR T g <
= ) i S e 3 o & 0 ok o &l & ok ok o 0 W
Rl A o oF [ 2|0 30 i 0 20 il 0 3 i 0 30 [ 10 =z 3
RO | = & 2|V iz @ 0 ol = 20 3 R 20 = o o ol MK
. el ok ol —|_ O O O O O O O O O O O O o O
z T 70 OF | & o S
o+ = %0 20
Iy il 5l
o 3)
Kio




ofl
’J
oF
oJ

ol
~0
0 ™J
= 3l iH
U — O
AN
0
tal oF
oF) Wl B0
Ko 20 )

= A
)

X ZH

00J

C]

o 1O [®)) 00} [ee] [e) o o
o o < () (e)) O O ©
_/, _/y < <t
.D.d Al |l
KI0
E
D
o o (©)) o o o o o
3 B 3 e
ol ol N
H3r
uiled!
KIS
(@) (=) (@) (@) o () o () (@) () QQ <o} Yo} N [ee] © Yo} N~ [ee) o0 (<o) Y] N~ () Yo} (e} Yo} (e} g () Yo} (@)
f 8 @ < 8 BIRIR R |I¥ T 2| IT =22 2 TLI|I8 8 L8 8 F LB
o = — NN o N N N
3
<
=
m W =< m W = m W =< m W =< oW =
= = = = = ol o 80 o
o (@] — [ee] — — < (ep] o
A A T o 3 X S
w |l w % X5 yr X S @ ©
- o o o o o ] O o (o))
Wl g = & S 33 T 8 =
Bl v 8 3 S M3 o
. ~ AN < n _ o o o~
= K S
mm Rl o
< . = -
o K 0 < —
= = = bt %
e ar IF o 0 -
= |t <+ _ oD R0 =]
M —~ o oK L 7l =
1| - 7l D
- %m ol R’ O mw o ur,no 0 __»% _OJH mw
o | T = kr & Mo 0 = | - - — no
TR A = uo 0 H ) ok ) 0 D 0 0 H
woow om T w =] 30 |y o 30 ol A y =]
SolE o oW ®w w AN S CAN I, Or 0 oF =) ol A
ol o 23 W T ma = o R |- u.u=__ =z 10 x Ma =
P _ _ _ _ _ s = M| ar 0 5 al 2 0 )]
. - O O ok - O e -
z 2|2 70 S 3 3r = S
I+ ol =




fAM: =&
T ZH Al
(==l I (=)

Ciel: olws DREd (el o e
SAH-HH . () - MBEAY - BHA2 0 Ak o1 e HRS2
SREEEEFEIRELT] 10,0002 %286 2,860
2 635
= 460
Al 1,765
It Al EHl 22l 20,760 50,030 N29,270
olerl AlE&&EH 29 3,360 8,580 N5,220
201 LBtEA | 3,360 8,580 N5,220
02 3294l 3,360 4,080 AT20
Onlgrs] HUAL IR
20,000 21 A~ %128 480
Oolgt? HAaAZAIE IS
120,000 201 A~ %128 2,880
DISt2AHIAZS AL 2N 17,400 41,450 N 24,050
201 B2 IH| 17,400 41,450 N 24,050
02 =329l 17,400 41,450 A24,050
Oolgt] HlaZI=AE =24H 17,400
— S A2 200,000& *3I A *12& 7,200
— 2L (HOME) 3,000,000& *x2IH A~ 6,000
—=S83 FA Y AS(3MA)
200,000& 43| *3IH A~ 2,400
-8 24 uA
5,000 1001 x23]  12& 1,200
—maJ 4R BT DA
100, 000 *3H A= %2 * 13| 600
S22 2 477,490 488,695 A 11,205
SUZRLYA S22 477,490 488,695 A 11,205
201 eIy 800 1,600 A 800
01 AtR22id] 800 1,600 A 800
O2UZ2R2RE AdN=E 2AIEE
200,000& *x2 Al 2t%23] 800
301 Let2AS3 476,690 487,095 A 10,405
09 SUIRLIBANZ 473,190 484,995 A 11,805
OF=1¢;] 88,000& x120H x 12& 126,720
OsAldl 5,000& 140 222 x 12 184,800
On eyl 2,000 & x120H 222 x12& 63,360
o1l =yl 300,000& x120H 36,000




2AM: =
Al
(=)

HME: MEOIMS AE 2
o9 ZU2223 2o Rk
_ _ SIEN
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
Oz o Zof - A 243 62,310
—AtZ T EA S 985,600 «36HH*1H 35,482
—FHRAS 985, 6002 * 124124 1,88
— 34X =| 15,000,000& x1H 15,000
10 SAIAHIEANS 3,500 2,100 1,400
O3U22A M=U3z 25,0003 =140 3,500
THEE THoH Ol & 30,200 35,020 24,820
THEH THoH CHE =& 30,200 35,020 24,820
oy 22 5,600 2,700 2,900
201 YEredy] 3,600 0 3,600
01 AtR2teltl 3,600 0 3,600
OTHEHTHOHCH 2 2Bt =F | 300,000& x12& 3,600
203 YRF&H| 2,000 2,700 AT00
03 AIMFAAR =LY 2,000 2,700 A700
OQFS5o] & A U SR EAY]
2,000,000% 2,000
Molse=+ 24,600 32,320 AT,720
201 et 19,600 27,320 AT,720
01 AtS2cld] 14,400 23,700 A9,300
OMoHZ =I| Xz 7,500
—Z3go 400,000& *1CH+10 4,000
—gmee 350, 0002 *1CH*102 3,500
OG- Ml AE22X SAY)
500, 0002 122 6,000
OMMHH BI422X 2o P
20,000& *30H 600
OMMH BI422X FaTY
10,000& *30L 300
02 ==29gHl 5,200 3,620 1,580
OMM 2T 23
60,000& 1CH 122 720
ONESHSR4LI HHRS
10,000 *4CHx 12 480
OAlIZ &8l Sl 4,000
— %47 SN 600, 0002 *33] 1,800




SN BERR ALY
Zo: T ol ol
Sl T THOH CHE =3

i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES agel @;OH Hon=s2t
-4 =7 1,000, 00024 1 CH 1,000
—HESSHEBLAD
300,000 *4CH 1,200
206 MZH] 5,000 5,000 0
01 X2 5,000 5,000 0
O8I 2 5,000, 0008 x4l 5,000
C2AE 2 8,263,585 3,982,072 4,281,513
2 Fy| 5,209,240 1,723,320 3,485,920
c2ae 29 210,860 56,020 154,840
201 LB Y] 45,860 31,020 14,840
01 AFR2t2|H] 15,760 5,800 9,960
ocazaelaloadt 70,0002 * 12 x43| 3,360
OE2EX =822 450,000 *20Z! X| 9,000
OAACHHE X B & 4y| 50,000 *607H 3,000
OZEHIIEE2 400
—neex 400,000 * 14l 400
02 Z2=29H| 30, 100 25,220 4,880
OMNFCE=ZTA U HEUEI|HBH|
100,000 *12& 1,200
OZ 222X X4l (8t,15t, AFCI2IXH)
1,000,0009 *12& 12,000
OESH=ZH| RXIH 1,000,000 1Al 1,000
OCL2EE 22 15,900
— UL ™ 2502 «30024 * 12 900
—SJ|12H 1,7502 x5002H » 122 10,500
—SIIRH Bts2 1,5002 25024 * 122 4,500
203 YR F=ZAH 2,000 0 2,000
03 AME=EXYREZAY 2,000 0 2,000
OE22d Y2 FX 23 500,000 *43| 2,000
206 MEHl 15,000 25,000 210,000
01 24 15,000 25,000 210,000
oc2zEs8 TEHY Y
10,000 * 1,500 % 15,000
401 Al&HI L2y 57,000 0 57,000




A SR AL
M T 2AM 2
ohelr &2 &yl

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
01 AlI&HI 57,000 0 57,000

g2 ANaX

URACZ HTLIBA 1,000,002 *57 57,000
405 X+t St 91,000 0 91,000
01 NAHESEFH=UI 91,000 0 91,000

O1hE I=2EH 91,000,000& = 1CH 91,000
< o CH 24 173,600 216,500 A42,900
201 LEH23H] 77,900 69,500 8,400
01 A2l 60,900 52,500 8,400
OM&ZH Xtz 4,000,000& «5CH 3 60,000
O £8H| 300, 0002 *32! 900

02 223244l 17,000 17,000 0
ONM&EHl KXl 1,000,000& *17CH 17,000

206 THZHI 65,700 147,000 281,300

01 M=z 4l 65,700 147,000 A81,300
O&oitizE 2 +& 20,000& »300m’ 6,000
OEHHEE Ao2s 7
338,000& *150= 50,700
HolitiME HALE #& 300, 000& *30H 9,000

405 XHAHE S| 30,000 0 30,000

01 XA ESESH=HI 30,000 0 30,000
Ogstzs o42) 7 10,000, 000& *3CH 30,000

FO=J A Y| 100,000 100,000 0
401 A&HIL RO 100,000 100,000 0
01 Al&HI 100,000 100,000 0

OZF0I=2 AL 100,000, 0002 14} 100,000

SEHHISA 251,800 201,440 50,360
401 AIEHIZL =0 251,800 201,440 50,360
01 AlI&HI 250,000 200,000 50,000

OE=FHISA 5,000, 000& *50a 250,000
W NEEE T 1,800 1,440 360
O ZHISA 250,000,000& *0.72/100 1,800

201,440 402,880 A201,440

|
Hu
0
1=
10
o
01
>




P

SM: BT ALD
B CRAL B2
-1 ol
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
401 AIEHIZ=0Y] 201,440 402,880 A201,440
01 AI&HI 200,000 400,000 200,000
OEZ2 XN RIS At 2,000, 000& *100a 200,000
03 AlZ=0idl 1,440 2,880 A 1,440
O=Z2RNRI|ISAM 200,000,000& *0.72/100 1,440
SERAME =T A 100,720 201,440 A100,720
401 AIEHILROYI 100,720 201,440 A 100,720
01 Al&HI 100,000 200,000 100,000
OEZAMESZSAL 2,000, 000& *50a 100,000
03 A& =0 720 1,440 AT20
OZZ2AWMEFZA 100,000,000 *0.72/100 720
AN L S5 HUISA 100,900 101,440 A540
401 AIEHIZ SO 100,900 101,440 A540
01 Al&HI 100,000 100,000 0
OAHH U Z7 FHIZA
100, 000& *1,000m 100,000
03 AlZ=0idl 900 1,440 A 540
OFHA 2 =7 HUISA
100,000,000& %0.9/100 900
OINSHLXAE ZHISA 80,720 0 80,720
401 AIEHIZLROY| 80,720 0 80,720
01 AlI&HI 80,000 0 80,000
OB DINBYR AL FHIZA
40,000& *2,000m 80,000
03 A& =0 720 0 720
Ozt OINESXNAE ZHISA
80,000, 000& *0.9/100 720
HYs 42232 T2 EEZA 90,810 0 90,810
401 AIEHIZ=0Y] 90,810 0 90,810
01 Al&HI 90,000 0 90,000
ONYE 42238 % 2/ T2EITA
,000,000& *45a 90,000
03 AlZ=201dl 810 0 810
OMHE 428M% L8 T2EFTA
90,000, 000& *0.9/100 810
=S 21032 XL S22 ZUISA 80,720 0 80,720
I




SN BER ALY
M C2AM 22

o &2 &bl (chel &)
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0 &t o4 e HIREY
401 Al HIZ 20| 80,720 0 80,720
01 Al&HI 80,000 0 80,000
=S 21032 X L T2 FHHISA
2,000,000& *40a 80,000
03 AIE=C0HHI 720 0 720
O=s 2103 X 23 S22 HEISAM
80,000,000 *0.9/100 720
AR S 5138HK L& T2 EHHISA 80,720 0 80,720
401 Al &HIZ =204 80,720 0 80,720
01 Al&HI 80,000 0 80,000
O&UES 513X 23 =2 HHISA
2,000, 000& *40a 80,000
03 AlZ=0Hd] 720 0 720
O&UR S 513X L2 T2FHHISAM
80,000,000 *0.9/100 720
OtXd S2EE S AL 60,540 0 60,540
401 AIEHIZLROY| 60,540 0 60,540
01 A&l 60,000 0 60,000
O0XZ ST2EZEIA 2,000,000& *30a 60,000
03 Al&Z=0Hdl 540 0 540
O0XIZ T2 E B A
60,000,000 *0.9/100 540
3z T2 EESA 402,880 0 402,880
401 Al&HIZ =20 402,880 0 402,880
01 Al&HI 400,000 0 400,000
OUdz T2EEHIA 2,000, 0002 *200a 400,000
03 AlZ=0Hd] 2,880 0 2,880

OUZ E2EFZA

400,000, 000& x0.72/100 2,880
ZEs OtY S2OHE S A 2,016,200 2,016,200
201 LEHR | 9,000 9,000
01 At22t2id| 9,000 9,000
OZ2dE ==& 9,000
401 AlEZHIXR0HYI 2,007,200 2,007,200
01 Al&HI 2,000,000 2,000,000




SN BER ALY
M C2AM 22

o2l &2 Jl (ctel: &
= X xH cCtel (s = (o] HA X2 OH x‘—-IL‘jL:— =2}
2N -3 . |_|'T|(9|]:”)'}\’“—l— S - HE S Ol & O] AFOH HnsZ

— T

2,000,000, 00021 *14} 2,000,000
03 Al&=CHl 7,200 0 7,200
OLSS 0L SX A
2,000,000,00024%0.36/100 7,200
HYMAET TREH HAZA 49,500 0 49,500
401 AN&HILLHY 49,500 0 49,500
01 A&H] 49,500 0 49,500
ONLMABT C28F HLBA MAH
| 8 1,800,000, 0002 %2.75/100 49,500
TRRE WHBA 302, 160 0 302, 160
401 AN&HLLHY 302, 160 0 302, 160
01 A& 300,000 0 300,000
OE27E HEBA 300,000,0009! %141 300,000
03 A&l 2,160 0 2,160
OEZPE HLZA
300,000, 0002 0. 72/ 100 2,160
22 SETHEBA 905,670 0 905,670
401 NEHILLHY 905,670 0 905,670
01 Al&H] 900,000 0 900,000
OZcz 2T HHIZA 5,000,0002!*180a 900,000
03 Al&=CHl 5,670 0 5,670
OZcz 2T HHIZA
900,000, 0002 0.63/ 100 5,670
S2AEE RXB 1,298, 127 945,256 347,871
SEANES &3 L I 201,440 302,160 £100,720
401 AN&HLLHY 201,440 302,160 £100,720
01 A& 200,000 300,000 100,000
OSZALS(OISAL, CINQIHA ALY
== S) #3 ¥ Fy 200,000,0002! *14] 200,000
03 Al&=CH| 1,440 2,160 AT20
OSEANLS(IEY L, CINQAA ALY
S8 S) &3 L FHH| 200,000,0002+0.72/100 1,440
FRE=2 wsAg &7 50,540 130,936 80,396
401 AN&HILLHY 50,540 130,936 80,396

01 AI&HI 50,000 130,000 280,000




SN BER ALY
M C2AL 22

@2l SZAEE 72 (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OgSAE 722 250, 000& 200 m’ 50,000
03 AIZ=C0HHI 540 936 A 396
OgsAE 7A22 50,000,000& *1.08/100 540
CERXS MY 723,402 210,000 513,402
401 Al4HI2C0HYI 723,402 210,000 513,402
01 A&l 720,000 210,000 510,000
Cug 34&8d 89 20,000, 000 *4JH 2~ 80,000
OBY HUFY 8Y 20,000,000 %374 2 60,000
OSd 0 HLGHAL B
40,000,000 * 104 2 40,000
OZE=1 B3 A 540,000, 0003 * 14| 540,000
03 Al&=C0HI 3,402 0 3,402
OZL&EsW B3 A
540,000,000& *0.63/100 3,402
S2HEA® 4| 50,540 0 50,540
401 A&HIZ204YI 50,540 0 50,540
01 A&l 50,000 0 50,000
O&=Z HAIE HH| 50,000
&4, Wi 7,000,000 *5JH 2~ 35,000
—=ZotE | 750, 0003 *20H 15,000
03 AlZ=C0HHI 540 0 540
OS2 HEXIE | 50,000,000& *1.08/100 540
SEFEW FHISAM 100,720 0 100,720
401 Al &BIZ20HYI 100,720 0 100,720
01 Al&H| 100,000 0 100,000
OEE=w FHISA 100,000, 0003 * 14! 100,000
03 AlZ=RC0HHI 720 0 720
OE&=suw HHl3
100,000,000& *0.72/100 720
CZANEE THIA 90,810 0 90,810
401 A&HIZ 204G 90,810 0 90,810
01 A&l 90,000 0 90,000
OEZANE=E &EM3 30,000& *3,000m* 90,000
03 AlZ=0HHI 810 0 810




SN BER ALY
M C2AL 22

CHelr S2AEE A2 (cHo: & e
_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
OS2ANHES ZHMBA
90,000,0002 0.9/ 100 810
ZQER NE0IS X B4 75,675 0 75,675
401 AlZHI 2SO 75,675 0 75,675
01 A&l 75,000 0 75,000
OFREZR AH01S HIES
1,500, 0002 *50m 75,000
03 Al&=hH 675 0 675
ZQER MNE0IS BB
75,000,0002 0.9/ 100 675
I2S |2z 1,761,218 1,313,496 447,722
HES Y 2OE 29 950,260 939,060 11,200
201 st 950,260 939,060 11,200
02 BB 950,260 939,060 11,200
OJzs ®Iga 45,000,0002 * 128 540,000
OROS &HIIQ3 15,000,000 * 128 180,000
OHYS ®JIga 16,500, 0002 * 128 198,000
OXot2E ®IIR3 550,0002 * 12 6,600
OHZ, XotBE +£23 55,0002 128 660
OHZOHE HAH| 1,000,0002 * 122 12,000
OZREE 20322 150,000 * 122 1,800
OFIIHHZ AL &2 H 10,000, 00021 14! 10,000
OADIUB BIZAE HIIR3
100,000 * 122 1,200
HES 24 HH| 357,556 022,744 134,812
401 Al&HI 24| 357,556 022,744 134,812
01 A&l 355,000 220,000 135,000
OJ}Zs & 2 DA 2,300,00021 %505 115,000
ONES =562 A 60,0002 *3,000M 180,000
OJ=2s |z 20,0002 +3,0005 60,000
03 Al&=CH 2,556 2,744 A 188
OJZE 24 L |z
355,000,0002 *0.72/100 2,556
ZHE JIES FUIBA 151,080 0 151,080
401 Al&H LS OHY] 151,080 0 151,080




SN BER ALY
M C2AM 2

©9l 2SS R 22 (EHol: & 2
_ _ _ Muo
SN -BH - S(B) - MRAY - BES 0f &k il b o HRE2
01 A& 50,000 0 150,000
OZE2 2S5 BUIZM 60,0002 2, 500m 150,000
INEEE T 1,080 0 1,080
OZE2 J2S BHIZM
150,000, 0002 +0.72/100 1,080
HREEE S 2HAe AZAIE FHUIBA 211,512 0 211,512
401 A&EIL=0HY| 211,512 0 211,512
01 AZH 210,000 0 210,000
OUREIE S 204 AN BUISM
210,000,0002 *141 210,000
03 Al&=ChH| 1,512 0 1,512
OUREIE S 204 2AL BUIBM
210,000, 0002 +0.72/ 100 1,512
oIS B4 Fy| 90,810 151,602 60,882
401 A&EIL=0HY 90,810 51,602 60,882
01 A& 90,000 150,000 60,000
ORS &X L Ba 300, 0002 +3005 90,000
03 Al&S i) 810 1,692 £882
ORUS &X L Ea
90,000, 0002 +0.90/ 100 810
of & =t 1,616,009 1,584,707 31,392
SRl 1,616,099 1,584,707 31,392
SIEL BHHS o 10,000 10,000 0
401 Al&HI 22O 10,000 10,000 0
01 AZH 10,000 0,000 0
OZRML(GHE, 2H)RX 22
2,000, 0002 574 £ 10,000
SHEALE RIS 100,699 1,574,707 A1,474,008
401 A&EIL=0HY| 100,699 1,574,707 A1,474,008
01 A= 99,800 1,568,699 1,468,899
Ostal 2 70 Nd2 SxL 99,800
—stargel 83,0002 *600m 49,800
—st& (AL H 500, 0002 100 50,000
03 Al&SThH| 899 6,008 75,109
OBHE(TAH)AE S FHIZA
99,800,0002%0.9/ 100 899




SN BHEP AL

2 otEFHI
&Rl ot F A2 (ctel: &
SNBSS - MEAY - BES 0l &k o4 e bz 2
L A0 HUISA 1,505,400 0 1,505,400
401 AIEHIZ 2O 1,505,400 0 1,505,400
01 A&l 1,500,000 0 1,500,000
Oz A0td FHIEAM 1,500,000,000& 14! 1,500,000
03 AIZ=C0HHI 5,400 0 5,400
ozsadtd 3H
1,500,000,000& *0.36/100 5,400
HY2HZH(ZAR A& 304,225 298,228 5,997
234l 241,225 232,868 8,357
S 23l 241,225 232,868 8,357
101 QIZH| 237,025 228,548 8,477
09 RIAHAZZXNE=S 237,025 228,548 8,477
OE=zzel ¥ B8 21| 154,025
=] 1,162, 7203 *»4H 12 55,331
—&03 1,152, 7203 x4H 7 . 5& 34,582
—5d22E 9, 1403 16 Al 2t *x4H x 122 7,020
—Al2t2l=g 9, 1403 *30Al 2t x4 % 12 13,162
— 23 395,200 «4H x 123 18,970
—Axt=g 49,120R «4F 20 3,930
—wE2x3 140,000& 4 H x 122 6,720
—HWAHI B X 80,000 x4« 123 3,840
—EE 40,0003 *4H x 12 1,920
—fg=g 80,000 x4H x12& 3,840
— M= 70,0003 x4H «12& 3,360
—Bt&E =g 100,000& 1E = 12& 1,200
—Hs= 75,0003 x2H 150
Ojtzs 838 oA 55,218
—J|I23 1,340,000 x1Z « 123 16,080
—a0= 1,340,000& x1H 7 .5& 10,050
— Y22 9,910 x16Al 2tx1H %12 1,903
— A2+l =S 9,910& x30A| 2Hx1H x 122 3,568
— 23 430, 1203+ 1E«12& 5,162




AN SEF 2L
M W2 (EAT ALD)
£l el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—AAxt=g 53,2803 x 1 +20 1,066
—wE2x3 140,000 1 x 122 1,680
—HWAH B X 80,000 x 1«12 960
—EE 80,0003 x1H«12& 960
—fE=E 60,0003 1H«12& 720
— PG 30,000 x1H « 123 360
—= 2l 6,000 «5F «10L 122 3,600
—Usrdtd &ta 0l B
4,000,000& *0.0684+2 % 23| 1,095
—dMHEE=E 188,557,000& *0.038 7,166
—&Ys 25,000 x5H 125
-3 20,0003 x5H 100
—ets 50,000& x5H 250
— 2 &tst 20,0003 x5H 100
— L&Y 8,000& «5bH 40
— e 7,500& x5H 38
-9 20,0003 x4H 80
— &5t 10,000 x4 40
—Hs= 75,0003 x1H 75
Odtaztel 912 27,782
—Jl2a 884,060& x1H+12& 10,609
—J|2==E 884,060 1 x100%*43] 3,537
—HEF Ot 884,060& » 1% +75%*23] 1,327
— JHAIXI & H 884,060 * 1 x50%*43] 1,769
— G A 80,0003 x1H«12& 960
—wWEE XY 140,000 18 x12& 1,680
—IJEL (R X) 40,0003 x1H 123 480
—IIE=2(EHIS) 20,0003 »2E «12& 480
— 23
3,630 *8A| 2+ +65%*4H x 1H x 12 907
—AN2el=d 4,530 *1.5+30A| 2412 2,447
—5L22+E
4,530 1. 5+8A 2 1H+2 x 12 1,305




SM EET AL
B MESAA (ERT AL
Crol: olei2 | (cro): &2l
_ _ _ Muo
SA - BE - BA(EA) - NRAY - BES 0 &t o4 i HRE2

— = 2 6,000 «1H 10 123 720
R PNES= 4,5303 x8AI 2kx 152 x1H 544
—MHEEZ 26,760,000& *38/1,000 1,017

203 HRF&H 4,200 4,320 A 120

04 REN2ILRFLAY| 4,200 4,320 A120
OFA2LURFEHI 350,000& *12& 4,200

Jl2ZHl 63,000 65,360 A2,360

Jl2Z | 63,000 65,360 A 2,360

201 Lt 30,240 29,040 1,200

01 At 2eld] 30,240 29,040 1,200
M2 60,0002 21H «12& 15,120
OJl2= 2l 60,0002 »21H = 12& 15,120

202 O4dl 32,760 34,320 A 1,560

01 3UWAbI 32,760 34,320 21,560
OJlsgef=a ol 130,000 *21H x12& 32,760




od
’J
OF
oJ

Rl
K

B
= il
W= 5
& U
N %0

M o) &0
oF) R i
Kio 7

= A
)

X ZH

00J

C]

e

n0

KIo

Bl w

92,382

98,802

101,600

4,220
320
320

3,900

3,900

560
A2,040

AN440

H3r
uiled!
pak=

261,730

194,870

39,880

17,780
17,780
17,780

22,100
8,300
6,300

=
o

s

<J

354,112

48,910
305,202

mr

293,672

Al

48,910

i

141,480

244,762

Al

48,910

fir

92,570
22,000
18,100
18,100
2,000
16,100
9,800
6,300
3,900
3,900

Al

3,500
400
21,660
8,860
4,260

2,400

1,200
500

200
300

2,000,000&

140,000& 704
210,000& »30A

AL
(=]

Ol ojet
Ol& ol

e )
=]
e )
=

4 Xl

&
SN

X

_1_
—1

405 Xt

ur
s

1CH

[=]
[uind

.
2l %

21 x5CH

=

700,000
400,000

OUXIgatoet =i

6o
<+
ol
&l
OF
70
i
I
A
pill

ok

200,000&~12&

K
ol

o

KO

|
10

KD

RO
ol

il
K
Y
il
IR

2

[uind

2l %10l *3

e

400,000

ol

I
oF
rJ

(8!
o
4
uJ

O
i
oY
il
T

o

o]

[uind

2 x2

100,000
150,000& »2H

ol

[
ol
Rr

oF

<
uJ
il
i

N

n.

IHI

2,000 2,600

160
4,600

80,000& *x2&




S A
X XH .
(=

chel:

M- B8 S2(3H) - HRAY - BaS

22
J2

20
B
2

OO0l = M &=

il & S

ST 4,000% x2502 1,000
o2w23 300,0008! <128 3,600
202 01t 10,800 0,800 0
REEIT 10,800 10,800 0
OsyASEL
150, 0002 +6% * 128 10,800
305 HHASS 2,000 3,000 A1,000
01 Ha3S 2,000 3,000 AT,000
OgYA=ES ¥ Ol IHE 2o b &
2,000,0002! 2,000
220 JIEN2 I 97,820 0 97,820
2 48,910
A 48,910
201 Y| 97,820 0 97,820
2 48,910
A 48,910
01 ARzl 97,820 0 97,820
OABSHF JIZNE FH A
1,453. 2381467, 31221 97,820
2 48,910
Al 48,910
HERe el 16,400 0 16,400
YHETe 2 16.400 0 16,400
201 Y| 15,500 0 15,500
01 ARl 15,500 0 15,500
OMgHe T L2Fd 2| 500,0002! 500
OMLHE 7Y YT M= & &7
1,500, 000! * 1074 2 15,000
202 o1t 500 0 500
01 =LHoT] 500 0 500
OML R 01t 500, 000! 500
405 TH&HFSHI 400 0 400
01 HALESH 400 0 400
OUIXIE3tnet 7 SECEE
400,0002!*1CH 400




od
’J
oF
oJ

£l

K4

R0 o
ERCAEY
K=<
=0 O
o) A0
oF R oF
Kio 75 o

= A
)

X ZH

00J

C]

(e 0] Al Q0 | © o o |o o 1o o |o o o o | o
Al N~ Al (V] (@) (@l el o O o O o (@)
™ © O | © [>0 Ne)] 0 |0 O | O — | —
q |s|w m, o~ = |= == s |o ==
o | < < < (<
E
o
o o |l olo o o |lo o |o o |o o o o o
21888 g 8|8 g8 g8 2|8
A RARNE o ~ o~ — |~ S lg — | =
H3r
il
KIS
Al Al [V NN o o o o Al o [aN] o o o o o o o o o o o o o o o o o 1o
Flgis12 § €8 88 8 28 B |58 {318 8§ R|8|8 §|8|8 & 8|58
sls|]e - T DA =S =T Ll L R A NN N8y 2 g
3
<
=
a o S B0 ol ol o o o ol o oY <
N & 8 £% N N N N ¥ 8 3 8 =
n NS D A : ; n 2 S ? 09
or [ o o o 80 4o [O8! 80 =) 0 o = X
< o - = S < N o < s o S oM 7
X0 S * % S * X S * S ~ T O o OF:
=) S W @ o ol ol S i o = S S
I o o o S o o) o o S - S
. =} S Q9 . — * Xe) S ™ <4J Q -
— =1 =] ™ ol * mﬁ [ee] = Yo} w
ol he - ® S 3 [l <
— r < S -
I- ;© = =
Ik + o- © D ol = 3l
< — kM =] o) 2 e 0 <
. - = = w = — 5 o X o 3 =<
~ w s =~ @ =5 I D ef _ & o KD = 3
= G0 o —m < il - ~ ) 0
= M = no R %0 _ - -
o ET I S 1 = 4 o U 5 |3 = i
— - ol ol | Y o 4 Ul b @ = " = A e
oF |3 |= = N 0 — o 5 o it o =
I 2 D Ol o Ot e - o 2 3l OU 3D m = = o i Hio
e L B e N e L B SR S (O ER ol A B N = i w0 o0 | o
I e I I L N (O (| S I . ) A L e a3 S SED
A [Plw|Pr & 8 o9 m @Kk om oM os|ZlE @ I B A I O B O e e
g |om|o "= M m o w0 | _ Mook | S |m Sz m o |[T|s W <lz= m ® =
A o] - O O O O O O |« O - O O | O — O O o
T | .ﬂ Qs S A LS8 =2 I P =3 P
i ol
J or




od
’J
oF
oJ

£l

K4

R0 o
ERCAEY
K=<
=0 O
o) A0
oF R oF
Kio 75 o

= A
)

X ZH

00J

C]

olololo o o |o
| oo |o ® S |
TN — QxR
=0 o |~ N~ N —
Ko < <
E
D
ool olo o o lo
218|283 g 2|8
e 8|8 |g o @ |o
o
ikd!
RIS
ololalolo o o o o o o o 9 o o o o o o o o o ol|lolo o
Slo|lol=ln oS © S S H S m @ S S 3 5 © S © S S S|l ©
ST Cen < < < © N~ <9 v © © A © ¥ ~ @ < N o NN o
8|8y o — — — ™ ™ — © o N ol — m|olo ©
3
<
=3
) oM Ol o} = g0 80 &O oll oll o} oll ol o < < g0 o
: s ¢ % g &5y g o5 & 8 8 4 = = 0% >
o |8 s ® 9 g 2L 5 & wom 4 3 5 5 % il
D o S o — * S S S g0, &0 o .o = _ — on R S o
X0 ) O S S * 0 A S S S ™ K ™ q N N T o — O S X
< = - S _ = [ - - - ¥ ¥ * X < =r S [ o - ar
) o IV S IR T o 9o g o OFa o Mg X o o S S o od
S o o S S e} lee] - - O - <F - S o
. i < © S i @ - - o [ o o o RS o o el S
a2 |2 G g ,8 8 %8 8 S 8 U8 2
< |5 =) = g — Q o = -
o - S = s o 2 % m 5 Tt 5 &z
= ﬂ WK qIﬂ_ . E_m mﬁ nIV__ il of 00 m K0 mo
o | 0 0 0 | 0 <0 ~ = Il w Ho —
= |5 |sl= S - S S o R OOT I =
o [ R a ~ 205 @ w o roow M w49 o 3
=~ |5 o | o = ﬁrﬁ H H o ~ H oD KO K [ K Kd nJ oM
Ok = zl=z12|ls = uJ qr K N oll — Ar e qr ar <r a
i m m Il ok y ) ok S A S ) | Y y = o
- o 20 | %0 ﬁ Al o W <0 <0 0 W Hro ow@ RO V3D < al 0 <0 <0 <0 <0 <0 _|& %
R|= HI| H m___ o < 1D RO ROoD RO 6 W0 3D M RD <r RO ul Ho RO RO RO RO RO nmlw 3l RO
R0 |O = | oK Pl WH N H HMF H Il RN HnM  H i 0 A H H H A WA
. O Tl - o O O O O o O O O O O O O O O ~ O
g Wl R K|S N e
I RO| A
A




of
’J
oF
oJ

Mk ie) <0
oM Rl RO
Kio /& H

= A
)

X ZH

00J

C]

o | o o |o o | o (@) (@) o () () () o o o |o
(@) (] o o o o Yo} Yo} Al Al Al o (0]
O (o <= NN e St ~ N Y[ ®|=
L.G A A_ [aN] [N} < <t — — © «© (<o} [aN] [aN]
i << R < < | <
Klo
=
D
o o o o (e} o o o (@] o o o o (e} (e} (e} o
2|8 2|8 A 3|3 ARG 218|28|8
NN ™ | o |s N~ gl ¥| v~ S| S| > m
LH3r
uiled!
KIS
o |o o o o o o o o o o o (@] (@) (@) o (@) o o o (=) o o o o o o o o o
3|18 8|88 8|88 g|gI8 8|22 B 88§ 8 § E|I8|8|]|8 &8 |3||88
— |~ — [aVI NaN| al ™ |m ™ © |© © © |© ™ — m < < < | < < mm % M M
3
<
=
o [ il < T O i 3 3 !
o o [aN] - — — — [ep] — [aN}
Oir S s il x s & =% & & 0
= S S e O R S S - 3 e S o
X0 © < <038 59 S S He oo o S
Y . o Hg < S 83 Kg 8 S I~
—y O ok © ™ <t 30 © IR S = 0
i ol 8 W N «
= <4 X ™~
It 4 50 B
. Ol < — Hio i}
= - o = K 0 i R T -
= Rl 20 &l _ iof = ) = zr FARd
1o} KF by 20 w 0 urr = Fo @ K- KE
— OF = H IS o ° H oF Ok
ok ol S N IF 4r Hio g S
uJ 7 - = o DI__A 0J o 0J ~ oK 5 B0
- Kt ol 0 e oK 3 8 2 00 OH
wl &l oA R0 Clm re Bl Ed GO 5 T =
&0 = ~ o H <= H =4 HSB H T | 80 I+ I
. — O O - O o O O 80 | 0B O
g 3 S ™ Q|a Q|5 00 | A =)
IF ar | o
ol




AN SEF 2EN
M HH2HAH(SIAR A=)

&l Jl=Z3 4l (el =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2

OfA2gHI 60,000 x24H 122 17,280
ORN2Y S20HA] 60,000 *24 % 128 17,280
202 ol 20,280 20,280 0
NEEICE 20,280 20,280 0
OJI2gRFX0H 130,00091 13 12 20,280
405 XHaHE S 1,400 10,700 29,300
01 X&USEFSH 1,400 10,700 29,300

OCXIEotet Re(A=2 85 ¥YE)
400,000& = 1CH 400

Ogddl&E #¢ 1,000, 0003 = 1CH 1,000




FAM 485
M 448 FUNXHH 29
ool FOXNUXMEH 243 (el &HH)
_ - P e
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
g8 473,511 440,148 33,363
dds FUNXNEH 23 381,750 353,930 27,820
FUXXIHE 2435 274,630 255,010 19,620
FOXXME 29 130,600 121,100 9,500
201 LEHREH| 23,200 24,600 A 1,400
01 At22telid 18,200 20,600 A2,400
OFLUXRHE 2] 600,000 «12& 7,200
OFCTXME =ZM2E HHE R
2,000,000& 2,000
OFQUXXA3 3|o&e =g
30,0003 x25 x12& 9,000
03 A2 5,000 4,000 1,000
O=F2UXNXHE HSLHS L HAlZ
3,000,000 3,000
OFCURXME 2 wFE & As 2,000,000& 2,000
203 YR=&dl 600 600 0
03 AIMFNA2FAY| 600 600 0
OAIEAIY g5 =& 600,000& 600
301 et2d= 78,900 43,800 35,100
10 AIAMHIZ& = 78,900 43,800 35,100
OF2UXXIHE THIASAHL 224
20,0003 x265H « 122 63,600
ORI |&2tel THASAIRH A
24 20,0003 x3& 255 15,300
405 XtobE SHI 27,900
AL S EF SH 27,900
OZ MO0l 2% HEM e Mar(
=) 7Y 300, 000& 204 6,000
OZHMOotalol 22 ML ©E AX 7
et 200, 000& *40H 8,000
OZFEHW 20 g FFRH 7
1,100, 000& *4CH 4,400
OM=&A & Ay (=) 7
et 200,000& 204 4,000
OM=EA & X 2
55,000 » 1004 5,500
UFAHEXC2 27,240




FAH 58
Y g5 FUNXMEH 29
E©el: FUXNXMH 2435 (She: & @
_ = HET
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
201 Zet=gdl 27,240 24,840 2,400
01 Ars2telbl 12,000 9,600 2,400
OLALILRFE +SH
1,000,000% »12& 12,000
02 ===4bl 15,240 15,240 0
Os&2= & AA 15,240
—RHERs 970,000 122 11,640
—BERERZ 300,000 122 3,600
seagsid 100,790 104,070 23,280
301 2LeE M= 100,790 104,070 23,280
05 S-cl-etdesEd= 100,790 104,070 23,280
Osd=+¢ 200,000 28 <142 78,400
Os% 3284 =¥
20,0002 x28F »23] x 122 13,440
Ogtd=¢ 25,0003 179 x23] 8,950
WReEFLeSD] 6,000 5,000 1,000
301 LetEa= 6,000 5,000 1,000
10 @AEHIEdS 6,000 5,000 1,000
ONRE=SLASI| HELF0A S4Y
6,000& x50 »22| 102 6,000
dg9s 2et QACEM 10,000 0 10,000
307 21z2told 10,000 0 10,000
04 QIZFHALE X 10,000 0 10,000
Odds et 2IeI=H Hal
10,000,000& *12 10,000
SENEE 77,120 68,920 8,200
HA2E 3 77,120 68,920 8,200
201 Ler2gyl 71,120 62,920 8,200
02 ===94bl 71,120 62,920 8,200
O8&2= & AA 26,640
—&JIes 1,600,000 122 19,200
—d.ol=E23 170,000& 122 2,040
—JlEt 82 & HAl 450,000 122 5,400
Od=Hl 20,400




FAM 485
M 4US FONIME 29
ol EHASY (et9l: &2
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
—SAJIARZ 1,700,000& 122 20,400
OAE &I XYl 10,680
— & A2 X I 300,000& x12& 3,600
— 2018l =2 170,000& x12& 2,040
— A &322l 120,000 x12& 1,440
—&ZJIs X 22 150,000& x12& 1,800
—J|EF Al EHIR Al 150,000& x12& 1,800
OXF&d| 3,600
— 22X (EZH) || 300,000& x12& 3,600
OFAN2YE 2LBt=ZH| 200,000 x12& 2,400
OFAHIEY 2AFH A 2,700,000& *23| 5,400
OFAN AUHEXTBANE KRB
500, 000& x4 3] 2,000
401 AIEHIZL 204 6,000 6,000 0
01 Al&H| 6,000 6,000 0
O] AX &IISAt 6,000,000& * 1A 6,000
FOI=J AL 30,000 30,000 0
F0I=2HAIE &H| 30,000 30,000 0
401 Al&EHILE204H] 30,000 30,000 0
01 Al&H] 30,000 30,000 0
OF 0= AIE | 30,000,000 x1A! 30,000
HESAIH (ALY S) 91,761 86,218 5,543
ol 2AH| 37,181 34,018 3,163
ol 2AHH| 37,181 34,018 3,163
101 2124 d| 23,921 21,458 2,463
09 RIAHE2Z=ZXES 23,921 21,458 2,463
OF A2 A 23,921
—Jl2= 816,280 x1H «12& 9,796
I 816, 280& * 1™ *400% 3,266
—X22LE 6,390 * 1P *15A| 2% 12& 1,151
—5d=224
34,080& *1.5x2U x1H x12& 1,227
— Xt 34,080& x1H »20 682




fAM 485
N HY2ITH(8ES)
Etel: ol 2| (el &
- _ - ez
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
—d A 54l 80,000 x1&«12& 960
—uWSE X 140,000 18123 1,680
—dE S0t 816,280% »1& x150% 1,225
— JFAI X & H 816,280& *1H x200% 1,633
—2&IHa2
816,280% /243 A1 2+ 8L +65%+2'H 12 420
—IIEx=g 80,0002 x1& =128 960
—Fll=E 30,0003 x1H~122 360
—&HEE= 23,360,000 *24/1,000 561
203 HR=&H| 11,460 10,760 700
01 JI22d R84 7,900 7,200 700
OJ|22dg 2=l 7,900,000 7,900
02 HEIFR=EH 560 560 0
OF AP R =] 40,000 14 560
04 BA2EIRF=LAH 3,000 3,000 0
ORKNSEYERFAH 250,000& 122 3,000
204 P AH 1,800 1,800 0
01 MAgPR=HBY| 1,800 1,800 0
os% 150,000 18123 1,800
Jl=2dHl 54,580 52,200 2,380
Jl=&d| 54,580 52,200 2,380
201 ZEr=3H] 26,880 25,200 1,680
01 AtR2teld 26,880 25,200 1,680
ORAN2E L2 100,000& «14& 128 16,800
O= gl 60,000& 14122 10,080
202 Oddl 25,200 25,200 0
02 N0l 25,200 25,200 0
O AN 150,000& «14F x 122 25,200
405 KHeHRE S| 2,500 1,800 700
01 A =SSFHSHI 2,500 1,800 700
Ok= MA Wi P 700,000& = 1CH 700
OLZ COIMEREH(ME) Ml 7
700,000& »2CH 1,400




od
’J
OF
oJ

0
30
0

0

30 o
10 Ok RO
30 R0 )
X0 %0 ~

= .

2A:
x| &H
(==}

cre:
e Y

e

n0

KIo

Bl w

LH3r
m<l
Rk

=
o

s

<J

400

il 7 &

X

CIXIEIt0iet u

o=

400,000 = 1CH




_ - P e
. OR(H) - HIRAY - BES Ol AF o8 HluS2
352,140 328,388 23,752
s FUNXME 2 262,290 250,930 11,360
HdEH 2435t 191,150 192,350 A 1,200
IXIHMEH 22 72,500 61,600 10,900
LBt2 A 20,000 19,000 1,000
AtR 22l 15,000 15,000 0
FOXXHEH 2 500,000& x12& 6,000
FOUXXRE 3 g
30,000& 25 122 9,000
A2 S H 5,000 4,000 1,000
F=OIXXIAEH = HAlE
3,000,000& 3,000
== QAR Sl E 24 B 2,000,000& 2,000
2= 600 600 0
03 AHMFIHRFA 600 600 0
OAIZAIH =& & 600,000 600
UBEAF 45,300 40,000 5,300
HAAHIEAS 45,300 40,000 5,300
OFCXXIME XHESAR AHI 22
20,0003 x 125 « 122 30,000
FOUXXIEE Ald2te] RS AR 2]
24 20,0003 3 255 15,300
405 XtobESHI 6,600 2,000 4,600
AL EFHSHI 6,600 2,000 4,600
HED(410216) 2 600, 000& *1CH 600
g™ WA 1,000, 000& = 1CH 1,000
SIEEI +Y 2,000,000 = 1CH 2,000
F=OITXIHH & - 7g
150,000 *10CH 1,500
FOXXIME LHE £ 2
300, 000& »5CH 1,500
gd fxel 29 22,800 18,000 4,800
LBt2 A 22,800 18,000 4,800
AtR 22l ] 9,600 6,000 3,600
QIAAHHR =L 800,000 128 9,600




fN: S
M = FUNAME 29
Tl FOIXXIME 243 (Crel H )
A -3 -H2A(SH) - HEAMY - BES O AF K gl,'igig Hlws2
02 23293l 13,200 12,000 1,200
O3 2 MA 13,200
—RERI 900, 000& *12& 10,800
—BtERERF 200,000& ~12& 2,400
SEE 23 N& 89,850 107,750 217,900
301 utEa=z 89,850 107,750 217,900
05 S-c2l-EEsE43 89,850 107,750 A17,900
OF=F 82,000
—==g 200,000& x25H x143| 70,000
—3oFA 20,0003 25 x23| * 12 12,000
Obt&E¢ 25,0002 *157H %23 7,850
WRet==2etsD| 6,000 5,000 1,000
301 getEazg 6,000 5,000 1,000
10 SAIABIEAZ 6,000 5,000 1,000
ONRset==20sS) HELX 0L =4
]l 6,000& x50 «23| x 102 6,000
SN2 41,140 28,580 12,560
A28 3| 31,640 28,580 3,060
201 LBHE2HH| 31,640 28,580 3,060
02 =294l 31,640 28,580 3,060
02323 & HA 13,400
—NII23 900,000& x12& 10,800
—& ot 23 100,000 =123 1,200
—AsHEE s 1,400
L8R 1,200,000 = 1CH 1,200
0l & Xt 100, 000& +2CH 200
OdzH| 4,800
—SAIIARSE 400,000& x12& 4,800
OA&EbEIS Xl 6,840
— &A= Xl 400,000& 128 4,800
—RoZHleR 170,000 = 12& 2,040
OXtg, &etd| 4,200




SA

=3
MM == FUNKME 29
& sEA2Z (ctel: &
SN C(BH) - NRAY - HES Aro Soe HlmE2
— XK X 300,000& *12& 3,600
— 0l EXt= X8| 50,000& ~12& 600
OFAEY Let=2H| 200,000& * 123 2,400
HALEHE A 9,500 0 9,500
401 Al4HI2C0HYI 9,500 0 9,500
01 A&l 9,500 0 9,500
OFEA HE B L ST A 9,500, 000& 9,500
Ol=2AY 30,000 30,000 0
=0 EHALE JHI 30,000 30,000 0
401 Al&HIZL20HYI 30,000 30,000 0
01 A&l 30,000 30,000 0
OFU=g At tl 30,000, 000& 30,000
HY2AGU(BES) 89,850 77,458 12,392
A2 39,630 37,158 2,472
oled 2| 39,630 37,158 2,472
101 ol t| 27,790 25,918 1,872
09 RIAHAZZXE= 27,790 25,918 1,872
OF A2t & 27,790
—JlEa 816,280& *12& 9,796
—J|Z=E 816, 280& *400% 3,266
—E==E 130,000& * 123 1,560
— X2 6,390& x15A1 2+x 128 1,151
— Y22 34,0803 *1.5+x22 x12& 1,227
— A X==E 34,0803 21 716
— g alY| 80,000& x12& 960
— w2 Xl 140,000& =123 1,680
— MG 30,000& =12 360
—FEF Y| 816,280& »150% 1,225
— JHAI X & Y| 816, 280& x200% 1,633
— 23
816,280 /243 A| 2+ *8 Al 2t x65%* 17 » 12 3,564
—MHEE = 27,133,620 *24/1,000 652




2M: 55
Y HYSIIH(ES)
el ol 29| (ctel s
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
203 YRF=L&Y| 10,040 9,440 600
01 J|22ILRFAHI 6,600 6,000 600
OJ|22HER2F=&| 6,600,000& 6,600
02 HIAIAHERF=EH| 440 440 0
OF AN H 2 FZRIH| 40,0002 *x11Y 440
04 RANSILRFAHI 3,000 3,000 0
OFM2IERF=&| 250,000& x12& 3,000
204 X RHAFH| 1,800 1,800 0
01 MMZPR=HAHHI 1,800 1,800 0
os& 150,000 1 *=12& 1,800
Jl=2Z | 50,220 40,300 9,920
=X 50,220 40,300 9,920
201 B9y 21,120 19,800 1,320
01 AtR22ld| 21,120 19,800 1,320
OFA2E Let=ZH| 100,000 *11H = 12& 13,200
O= &l 60,000& x11H x12& 7,920
202 o4l 19,800 19,800 0
02 MO 19,800 19,800 0
OEMA I 150,000 *11H =122 19,800
405 RAHAEFSHI 9,300 700 8,600
01 L ESFHSHI 9,300 700 8,600
O= A LAl 4,500,000 ~1CH 4,500
OZHAZTH(HOIN) A 4,000,000 *1CH 4,000
Ol =+ 200, 000& x4 4 800
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1SR
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ol M
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M- F= - S2(3H) - MRAY - BES e HlnE2
405,823 398,235 7,588
SFAUNIIME 2% 324,790 322,298 2,492
FORKME 2 227,530 225,638 1,892
DIXXIME 29 90, 140 93,040 A2,900
201 Ypre | 20,000 19,000 1,000
01 Atz 15,000 15,000 0
OF QIR ME 2l 500,0008! * 122 6,000
OF NI 319 HaLg
30,0002 *25% * 122 9,000
03 A2 5,000 4,000 1,000
OXXIME HBLE L HMAIS HE
3,000,000} 3,000
OFQIRIIME NE L Ast 2,000,000} 2,000
203 YR 600 600 0
03 AHEXYRETY| 600 600 0
ONTAIM &5 = 600,0002! 600
01 YsBAZ 67,140 66,840 300
10 BAFAHISAS 67,140 66,840 300
OXXIME RZAR Adl2a
20,0002 *216& * 122 51,840
OXXIME! AlZ22] XSAR A A
20,0001 *3% %2552 15,300
405 XtarE S| 2,400 1,600 800
01 XAUSEF S| 2,400 600 1,800
OXXIME 2FEHDA NSSLE Dyl
& A 2,000,000 *1CH 2,000
OXXIME BS HAIE 2% CIXIH0et
29 400,000+ 1CH 400
DMLY 27,420 23,628 3,792
201 Ypre oy 23,520 23,628 108
01 ARzl 10,800 7,200 3,600
OB AR T X 2| 900,0008! * 122 10,800
02 B2 12,720 16,428 A3,708
OZ222 2 HA 12,720
—2mez 1,000, 000! * 122 12,000
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o IYISFOUNANME 29
chel: EOINEIME B4 (e &2l)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
—Bis fER3 60,0002 * 122 720
405 RrAHFHSH] 3,900 0 3,900
01 KHAYSEF S| 3,900 0 3,900
O£2101% Q1247 2,100,0002 *1CH 2,100
OOCIAML IR Halg WA P
700,0002 *2CH 1,400
OFUS=YLE AW 7Y
200, 00024 #2CH 400
suiy 25 ¥ 103,970 103,970 0
01 YsrBaZ 103,970 103,970 0
06 E-2l-UHEBSEHS 103,970 103,970 0
oSy +¢ 200,0002 *29% *143] 81,200
OSH 3l9 &AM+g
20,0002 %29% +25| * 122 13,920
o8ty +g 25,0002 #177% %23l 8,850
WREB220ST] 6,000 5,000 1,000
01 YREHI 6,000 5,000 1,000
10 SAAUZAS 6,000 5,000 1,000
OMRSBSULIS)| HHA HOT S
Bl 6,00024 502 x25| * 102 6,000
SHN2Y 67,260 66,660 600
A2 S| 67,260 59,660 7,600
201 Ysr2gy| 61,260 59,660 1,600
02 ZZ=2YL| 61,260 59,660 1,600
02222 2 AA 22,100
—@olea 1,500,002 * 12 18,000
—4. 54223 250,0002! * 122 3,000
~XSHH L 2EE 600, 00024 +1CH 600
—JIEt BBR2 ¥ HA 500,0002 500
OI=E=L 18,000
—CAARS 1,500,002 * 12 18,000
ONEETIEST] 14, 160
—HA Y AES SRR
300,0002 122 3,600




SN BHIS
2 ZBISTUNRME 29
ool SHAL2Y (St5: &8 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
S IEEEN T
120,008 * 122 1,440
—EA Zately| 120,000 * 122 1,440
—20IHY 248 20,0002 * 128 2,640
—5Y0) 2l BEE 220,000 * 122 2,640
—JIEH AlE Rl RN 200,0002! * 122 2,400
OFAIHIS 2AFA 3,000,00024 +13] 3,000
Oxt I 4,000
—2tg R 300,000+ 122 3,600
—0IEX R 400,0002! 400
401 AlSHIL 2O 6,000 0 6,000
L 6,000 0 6,000
OB <A &3 6,000, 00024 +14} 6,000
Z0I% ALY 30,000 30,000 0
ZOIZBAE HY| 30,000 30,000 0
401 AlEHIL =20 30,000 30,000 0
LI 30,000 30,000 0
OF = A 30,000, 0002 30,000
HH2IFH(SBIS) 81,033 75,937 5,096
oz 2| 38,813 35,537 3,276
ol 2| 38,813 35,537 3,276
ICIEY] 26,973 24,297 2,676
09 SINHA2EX2S 26,973 24,297 2,676
O ATEIR 212 26,973
—Je3 816,2802 « 12« 122 9,796
— 4012 816, 28021 *400% 3,266
—oixtag 34,0802 *12§ x152 512
— AlRtel g 6,300+ 12 *15AI 2t 122 1,151
—524g 34,0802 +1.5+22 122 1,207
220143
(816,280 /243 A1 2+) 5B Al 2465+ 11+ 128 210
—YEEII) 816, 28021 * 150% 1,225
— PRI &b 816,280 *200% 1,633
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M- B SR(B) - HRAY - BE S Ak e 2
—nsEXY| 140,000& =122 1,680
— =4l 80,000& »12& 960
—E==E 80,000& 123 960
— A= 30,000& ~12& 360
P UEEI R 840,000& *4Z J| 3,360
—MHEE = 26,340,000& *24/1,000 633
203 YRFLAY| 10,040 9,440 600
01 JI22dPRF=L] 6,600 6,000 600
OJ|22d =8| 6,600,000& 6,600
02 ZFJAIHRFEY| 440 440 0
OZAJtet AR =EY| 40,0002 11 440
04 RBN2IYRFLEYI 3,000 3,000 0
OFA2YE JR=2H| 250,000& * 123 3,000
204 HPAH| 1,800 1,800 0
01 HAéSHRAHZH 1,800 1,800 0
OXMZHRFLHI 150,000& *12& 1,800
Jl2ZHl 42,220 40,400 1,820
Jl2Z | 42,220 40,400 1,820
201 Lt 21,120 19,800 1,320
01 At 2eld] 21,120 19,800 1,320
OFNESE gitZH| 100,000& «11H x 123 13,200
Or==i:] 60,000 x11HE=12& 7,920
202 O4Hl 19,800 19,800 0
02 BHNHI 19,800 19,800 0
O XN 150,000& *11H x 123 19,800
405 XHAHFESHI 1,300 800 500
01 XML EFHSHI 1,300 800 500
O2MAHI 2 1,000, 0002 = 1CH 1,000
O=FCIMdEH EaD| #¢ 300,000 =1CH 300
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_ _ _ Muo
SN -BH - S(B) - MRAY - BES Off &F oA il b o HRE2
2zes 477,242 767,611 £290,369
320S FURNIME 29 392,499 689,404 296,905
FOIRXIME 245 282,929 200,760 82,169
FONAME 2 95,610 53,400 42,210
201 g2y 20,500 7,800 2,700
01 At 2| 15,000 13,800 1,200
OF XA MEH S| 500, 000! * 122 6,000
OFPIXXISI 28l 3]0 & 4 4ot
30,0002 +252 122 9,000
03 A2 5,500 4,000 1,500
OFQINAIME HBHA 2 LES
3,000,0009! 3,000
OFQIMXME D8 L 28 2,000,002 2,000
OFQINXIME SMLH LAE
500, 0008 *13] 500
203 YREY| 600 600 0
03 ABEZLLEAY| 600 600 0
ONFAHET 600, 0002 600
01 YprBaz 72,240 34,000 38,240
EErE 72,240 34,000 38,240
OZFBIXHXI M E{ KH2 = AR &L HI 2 4
20,0002 +216% * 12 51,840
OZEQIXERI M E| Al & 2HRI XHRI 2 ALRFALH] 2 4
20,0008 +42§ 2552 20,400
405 Xt St 2,270 1,000 1,270
01 RHNASEFSY] 2,270 0 2,270
= 132, 00024 * 10CH 1,320
oF 200, 0002+ 1CH 200
oF P 150, 00024 #5C4 750
DlEgeHe 29 24,720 25,980 A1,260
201 syl 24,720 25,980 A1,260
01 ARl 2,000 8,400 3,600
OB YRFTLSH|
1,000,002+ 122 2,000
;2 Tz 2,720 17,580 A4,860
OZZe2 ¥ WA 2,720
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B ZES FOUKNME 29
o9l FUIRXIME 25 (S5 @ 2)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o HRE2
—2He3 1,000,002+ 122 12,000
—pEeHe3 60,0002 122 720
sory 25 X9 111,430 111,380 50
01 YL 111,430 111,380 50
05 S-2 - ¥ESTAZ 111,430 111,380 50
Os® 101,680
—4g 200, 0002 +312 14| 86,800
= CEE R 20,0002 +312+23| * 128 14,880
Otz g 25,0002 195 23| 9,750
MEs B2 S| 6,000 10,000 A4,000
01 YL 6,000 5,000 1,000
10 BAMHENS 6,000 5,000 1,000
OMRe B2 2SI HEA BOIX 2
AHB 6,000 *50% *23| * 102 6,000
N2CHE YLD 2Y 45,169 0 45,169
101 Q24| 11,439 0 1,439
10 JAMIENS24 11,439 0 11,439
ONSTHZ B2 1,439
—1=23 35,5702 %1% %2552 9,071
-R3FYLY 35,5702 12522 1,850
— izt g 35,5702 %1% %122 427
R CEE] 1,348, 0002 %8/1,000 of
201 Ysr2gy) 7,500 0 7,500
01 AR el 7,500 0 7,500
OENF2E 425 1,002 +2, 000 2,000
OTAZ2 Z2IB(DI) 4,000,009 4,000
OXRSTHZ AQIS S &3
1,500,0002#141 1,500
405 RArFESH) 26,230 0 26,230
01 HUUSEBFSH] 6,230 0 6,230
OHF(MI}) 7Y 750, 0002 #4374 3,000
OBRE (RLIE Z&) 1,400,0002 2CH 2,800
OLBHAMS =y 430,002 174 430
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& FOXUXLAE 43 (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 = MFHI 20,000 0 20,000
OX2SEM2 T AT 10,000& 2,000 20,000
HAS 79,570 458,644 379,074
HAI2E Z | 79,570 64,594 14,976
201 B2 IH| 79,570 64,594 14,976
02 =329l 79,570 59,794 19,776
O232=2 2 HMA 23,490
—&I|I2 1,600,000& *12& 19,200
— &Gt ER3 250,000& x12& 3,000
— XS XAl 2 J1EF JIAl 300,000& 300
—4ENY BEF 800, 000& 800
—0IEX BEE= 190,000& 190
Od=H| 21,600
—SAIJIARZ 1,800,000& ~12& 21,600
OAlI& &HISAlH] 18,180
—&AF & AIEZ mA22bl
500,000& x12& 6,000
—20ldHI=£= 232,000& x12& 2,784
— & A &322l 110,000 *12& 1,320
—s& IR X 22ldl 253,000& x12& 3,036
—HAMESY dEtx=EH| 300,000& x12& 3,600
—&J|otM2e |2 120,000 x12& 1,440
OX&Es X 22| 3,600
— Xt 104, OIE X 1H 3,600,000 3,600
OFA HIE 2A HA 4,000,000& *13] 4,000
O&F A A=H| 400,000& *x53| 2,000
OFA 28 HA 3,700,000& *13J 3,700
OA LY HE 2E 3,000,000& 13| 3,000
Ol =2 A 30,000 30,000 0
Ol =T ALE AH| 30,000 30,000 0
401 AIEHIZL 20| 30,000 30,000 0
01 Al&H| 30,000 30,000 0
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SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OF 0= ArS | 30,000,000 30,000
HM2AAH| (2E2s) 84,743 78,207 6,536
ol 2HH| 39,403 35,007 4,396
ol 2HY| 39,403 35,007 4,396
101 Q14| 26,223 22,527 3,696
09 RIAHAZZXES 26,223 22,527 3,696
O&E AL 2|1 24| 26,223
—JlEg= 816,280 x1H x12& 9,79
—J|ZE 816, 280& *400% 3,266
— Y& S| 816,280& x1H *23| x75% 1,225
— JFAH A& HI 816, 280& x200% 1,633
—nWEBXH| 140,000& x1H =122 1,680
— A ZAH| 80,000& x1&H «12& 960
—220183
816,280 /243 Al 2H+8A] 2Hx65%+ 111 x0 158
—ItE=4 130,000 *12& 1,560
—E524Z22E 34,0803 *1.5%22 x12& 1,227
— X224 6,390 *15A1 2Fx 128 1,151
—AX=E 34,0803 x1H 15 512
—StH|B X 4G 430,000& *1H*42 | 1,720
— MG 30,000& x1&H «12& 360
—sStAI2 =01 AF 30,000& x1H 128 360
—AMIEE 2 25,603,000 *24/1,000 615
203 ERF&H| 11,380 10,680 700
01 JI229YERF=&| 7,900 7,200 700
OJ|A2H AL F=XH| 7,900,000 7,900
02 HIAIMNMAR=AH| 480 480 0
OdJINM AR =X 40,000 x12H 480
04 RENSIELERF=AHI 3,000 3,000 0
OFRANM2HEYIFEH| 250,000& x12& 3,000
204 XPHAH| 1,800 1,800 0
01 NS HR=HAHHI 1,800 1,800 0
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01 ARzt 23,040 21,600 1,440
oMY 100, 0002 * 1284 x 122 14,400
o3| 60,0002 *122 +122 8,640
202 o1l 21,600 21,600 0
EEERE 21,600 21,600 0
O” 01| 50,0002 * 1284 x 122 21,600
405 R&HF S 700 0 700
01 XMUSEHSH 700 0 700
OI01H Z &I Ef (M) 700,0002 104 700
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SNBSS - HRAY - BHES 0 & o4 e HIRZE2
2 Zz=gl 6,000 8,400 £2,400
OZBR2 ¥ MA 6,000
—2Ee3 450,000 * 122 5,400
—BERER3 50,0002 * 122 600
405 THEFH S 400 0 400
01 KALSEFHSH] 400 0 400
OFUSE 228 A 200, 00024 *2CH 400
suy 25 N 50,320 50,320 0
01 YL 50,320 50,320 0
05 S-2-eEEsS=43 50,320 50,320 0
Os% 45,920
—+g 200,000% * 142 +143] 39,200
—gloasag 20,0002 * 143 +23| # 122 6,720
optgag 25,0002 +88% *23] 4,400
WRE B2 S| 6,000 5,000 1,000
01 YL 6,000 5,000 1,000
10 BANHESS 6,000 5,000 1,000
OMZRE B2 2SI HEA HOKX 2
Ayl 6,00021 502 x23| * 102 6,000
SHNRY 61,920 38,900 23,020
A2 B 48,420 38,900 9,520
201 Lpr2y| 46,620 38,900 7,720
01 AFR2elt] 1,800 0 1,800
OF4J S YxE 50,0008 * 122 1,800
;2 Bz 44,820 38,900 5,920
OZZ22 % HA 15,000
~®le3 900,0002! * 122 10,800
—4. 5+ E23 200,0002! * 128 2,400
—JIEt 323 ¥ WAl 150,000 * 122 1,800
O ezt 12,000
~ZAIARS 1,000, 0002 * 122 12,000
OAN&ZHIS b 8,820
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ool SHARY (E49: & 2)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
N CEELEET]
200,000% 122 2,400
— 2o aAR 25,0002 *12% 2,700
—EA gt 110,0002 * 122 1,320
—JIEt AIEBHIRXIHI 20000021 *12% 2,400
Oxt 2| 5,400
— XY R b 400,00021 +12% 4,800
ER L] 50,0008 *122 600
OBA2Y Lpi+gY| 300,000 +122 3,600
405 X+orE S| 1,800 0 1,800
01 XAUSEHSH 1,800 0 1,800
ORZEAI 2 300,0002!*1CH 300
OBAE o7 P 15,0002 %1004 1,500
HALE A 13,500 0 13,500
401 AU L2 13,500 0 13,500
01 A& 13,500 0 13,500
OSIRa MHAX TA 4,000,00021 * 14! 4,000
OFQIME SR 01210 LY HiZ L
JIBA 5,000,000 *14] 5,000
OFQATXIME HHHIAT &XIBA
2,500, 0002 * 14! 2,500
OFANIME H0IDA HE SXIBA
2,000, 0002 14! 2,000
OISR ALY 30,000 30,000 0
ZolSBAIE HH| 30,000 30,000 0
401 AZHI L2 30,000 30,000 0
01 A&H] 30,000 30,000 0
OFoI=RAA Y] 30,000,00021 * 14! 30,000
HH2IFH(SYIS) 79,491 71,989 7,502
olz 2 gy 36,391 34,489 1,902
olzi2 gyl 36,391 34,489 1,902
101 QI24H| 24,591 23,289 1,302
09 RIIHAZZRZL 24,591 23,289 1,302
OSASA BAZ2IY 24,591




SN 28is
B WE2 oY (281S)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
—JlEa 816,280& »1H «12& 9,796
—J|g==g 816,280& 1% «400% 3,266
—E==E 20,0003+ 1H«12& 240
— X2 6,390 x 1@ x15A| 2+x 128 1,151
— 52 34,080 *1.5+2 x12& 1,227
—AAXt+g 34,0803 *1H 18 614
— MG 30,0003 x1H =122 360
— gAY 80,000& »1H«12& 960
—wWE2 Xl 140,000& 1E =12 1,680
—HEF Ot 816,280& »150% 1,225
—JHAI X & dl 816, 280& x200% 1,633
—axJaE
816,280 /243 Al 2+ *8A| 2t x65%+9EH » 12 1,887
—MHEE = 23,000,000 x1+24/1,000 552
203 SR F&H| 10,000 9,400 600
01 JI22gYRFL8Y| 6,600 6,000 600
OJ| 22 R F&| 6,600,000& 6,600
02 ZFJAIHHRFEY| 400 400 0
OZ It 2= &d| 40,0002 10 400
04 BEN2IYRFLAYI 3,000 3,000 0
OFA2ELRFEHI 250,000& * 123 3,000
204 H gAY 1,800 1,800 0
01 ¥ SHSHAY| 1,800 1,800 0
Oos% 150,000& *1H = 12& 1,800
Jl2Z 4l 43,100 37,500 5,600
Jl2Z | 43,100 37,500 5,600
201 Lpt3H| 19,200 18,000 1,200
01 At 2eld] 19,200 18,000 1,200
O A2 100,000& =10 123 12,000
O=gt| 60,0002 x10H = 12& 7,200
202 O4Hl 18,000 18,000 0
02 XY 18,000 18,000 0
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405 THAHH SHI 5,900
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SAN-ZH-SA(FA) - NFAY - BES Ol AF o8 HwsZ
sios 461,143 477,760 16,617
S#rs ZOUNXMH 29 370,380 387,464 17,084
FOIXRIME B3 278,180 294,900 ~16,720
FORXIME 2 76,600 97,680 A21,080
201 Ypregy| 22,000 19,800 2,200
01 AtR22lt| 17,000 15,800 1,200
OZF0IX X HIEH 500,0002 * 12 6,000
OFBI XX HIEH orlE Kol
2,000,000 2,000
OZFBIX X M 3
30,0009 +252 * 122 9,000
03 A2 5,000 4,000 1,000
OZFBIX X HIEH L H 3
3,000,000 3,000
HIE 2,000,000 2,000
Xl b 600 600 0
TEEEY 600 600 0
gex 600,000 *13] 600
= 51,000 61,600 210,600
24 51,000 61,600 210,600
MIE| RIS ALRE AlH 2 At
20,0008 *170% * 12 40,800
HIEf AlSEEl XH2Z ALK Al
20,0009 +2Z 2552 10,200
Sl 3,000 15,680 212,680
EEEET 2,000 14,680 212,680
HIE] 2,000
Wik (132.2m) 7 g
2,000,000 104 2,000
02 TATPHI 1,000 1,000 0
HE A T 10,000 100 1,000
p e 26, 160 22,800 3,360
29| 26, 160 22,800 3,360
Hl 12,000 8,400 3,600
Hes
1,000,000 12 12,000
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Mol 2#2s FUNMEH 2
chel: EOINXIME B4 (6191 &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ Hws2
02 2=l 14,160 14,400 240
ORHER3 980,002 *12% 11,760
OIE =1 200,0002! * 128 2,400
Sog 25 XY 139,420 139,420 0
301 LB 139,420 139,420 0
05 -2l SIEES243 139,420 139,420 0
Osz+g 200, 0002 *39% * 143 109,200
OSHE|CI#ELT  20,0009+39 25l + 122 18,720
optag 25,0002 *230% x23] 11,500
WRe=2UALST| 6,000 5,000 1,000
01 YuBAZ 6,000 5,000 1,000
10 BAAHIZAS 6,000 5,000 1,000
OMRBBSULIS)| HHAHOK SAL
6,0002 *50% *23] « 102 6,000
ez =H M 30,000 30,000 0
307 QI2HO0IF 30,000 30,000 0
04 DIREABE 30,000 30,000 0
OXIgsl 282 OIS TA|
30,000,000 *13| 30,000
s FN2Y 62,200 62,564 A364
A2 S HY| 58,200 53, 164 5,036
201 Lsr2y| 51,900 52, 164 ~264
01 AFRarelt] 3,600 3,600 0
oY%z 3,600
~¥4IIS YRE 300,0002! * 122 3,600
00 B2 48,300 48,564 264
02222 2 AA 22,200
—@olea 1,300,0008! * 122 15,600
— &, 54523 300,0002! * 122 3,600
—JIEZZ22 2 AA 250,0002! +122 3,000
oozl 6,000
—CAIIARS 500,000 *122 6,000
OANE=Y Sl 10,500




SN Ses
D 22 FOINXME 29
o9 S BARY 2| & 2
SN HB G (BH) - MRAY - BES Aro e Hlm= 2
— & AR X 300,000& *12& 3,600
— R0+ = 165,000& =12 1,980
— Attt 2tel | 110,000& *12& 1,320
—JIEt A€ &EHBISXIHI 300,000& ~12& 3,600
OXtt| 4,800
— 2B (ZH )R X 300,000& =12& 3,600
— 0l E X=Xl 100,000& = 12& 1,200
OFANEYE Lot | 400,000 * 123 4,800
401 Al&HIZ20HYI 6,000 0 6,000
01 Al&HI 6,000 0 6,000
O8l =9 HAN &X 6,000,000 * 14! 6,000
405 KHAHH SHI 300 1,000 AT00
01 L= SHSHI 300 1,000 AT00
O&ZBHAI 72 300,000 = 1CH 300
HALEHZ A 4,000 9,400 A5,400
401 AUl =204 4,000 9,400 25,400
01 Al&HI 4,000 9,400 25,400
OSHA MG&X BA 4,000,00021 * 14} 4,000
FU=RAAY 30,000 30,000 0
=0 E2HALE JHI 30,000 30,000 0
401 Al&BIZ2C0HYI 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OFCI=JAS 30,000,000 14! 30,000
HY2AHY (2E2s) 90,763 90,296 467
o3 2| 41,403 38,896 2,507
ol 2| 41,403 38,896 2,507
101 ol t| 28,183 26,336 1,847
09 RIAHAZZXE= 28,183 26,336 1,847
OSHAI HAr22|E B 28,183
—JlEa 816,280& »1H «12& 9,796
—J|g==< 816, 280& *400% 3,266
— &= 130,000 1H x12& 1,560




SN 2828
HH: HHL2APY(SH2S)
o9l ol 2| Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
—Z}224Y 6,300 % 1Z *15A] 2+ 122 1,151
— S22 34,0803 *1.5x22 128 1,227
— iR 34,0802 12§ x202 682
— =G 30,0003 ~1H«12& 360
— A gAY 80,0003 1H«12& 960
—WsEXY| 140,000 18 x12& 1,680
—HEF O 816,280& »150% 1,225
— JFAIXI & 4 816, 280& »200% 1,633
— st
816,280 /243 Al 2F+82 #65%+ 19 « 128 3,983
R EEE 27,500,000 * 12 +24/1,000 660
203 YREZY| 11,420 10,760 660
01 JI22ggRFLAY| 7,900 7,200 700
OJI22ZYERF=4H] 7,900,000& 7,900
02 ZFJAINHRFEY| 520 560 240
OF MM H R =] 40,0003 13 520
04 REA2IHRFEH 3,000 3,000 0
ORANSLEYRFEHI 250,000& *12& 3,000
204 AP AH| 1,800 1,800 0
TEEEEEESEL 1,800 1,800 0
O HR = 150,000 1 x 122 1,800
Jl=2Z 4l 49,360 51,400 A 2,040
Jl=&d| 49,360 51,400 A 2,040
201 BH2EH] 24,960 25,200 A 240
01 AtS2cldl 24,960 25,200 A240
OR A=l 10,0002 13 122 15,600
O= gl 60,000& 132 x 12 9,360
202 OdHl 23,400 25,200 21,800
02 BHNHI 23,400 25,200 A 1,800
OZ M| 150,000& «13H x 123 23,400
405 XHeHE S| 1,000 1,000 0
01 XA ESEHSHI 1,000 1,000 0
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2A: &
. MUA1IS FUNXME 22
o

CHol: FOIRXIME A3 (Er9): & 2
_ _ MNuE o
SN - EH . S(3) - MRAY - BES 0 Ak o4 Sl ko HRz2
SRS 457,097 438,961 18,136
SIS FUNXHE 2 364,154 347,814 16,340
FOXXNYH 43t 263,150 246,550 16,600
FOXXME 29 103,400 95,100 8,300
201 g2y 33,200 27,800 5,400
01 AtR2&cldl 20,000 20,000 0
OFSUTAME S| 500,002 122 6,000
OFCUXXIHE &KX 2t 3,000,000& 3,000
OFUNAME +2Y2Y S22
2,000,000& 2,000
OFUTAAY 3IQ&4 +g
30,000& 25 x12& 9,000
03 HAr2ZHI 13,200 7,800 5,400
OFQINAIME B ®A & LEHS
3,000,000& 3,000
O0l2al o BAUS 9I8 2RYS 4Y
100,000& «12& 1,200
OU2s Ity 223D 29
3,000, 0002 23] 6,000
OFSINAME} DB L A8t 2,000,008 2,000
OFQRXIME SA ZF TA+Y
500,000& 23| 1,000
203 YPSRF=&H| 600 600 0
03 AIMFAHR =LY 600 600 0
ONBAIE £ 600, 0002 600
01 LN 65,400 65,200 200
10 BAIAHIENS 65,400 65,200 200
OFQITAIME THESAR Abl2a
20,000% x230H «12& 55,200
OFQITAIME AaR2l RBSAR b
24 20,0003 »2H 255 10,200
405 XtotESHI 4,200 1,500 2,700
01 RNASEFHSH] 3,200 500 2,700
OFQITXIME ALH 2
1,600, 0002 1K € 1,600
o870 ¢ 600, 000& »2CH 1,200

k
i

F=OIXXIHEH 20| 2 200,000 »2CH 400




SN AHEIS
o AUEIS FURNLEH 29
chel: EOINEIME B4 (9l M2
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
00 AT 1,000 1,000 0
O FOURIME THTLE 10,0002 +1002 1,000
olEY Rl ey 28,900 21,600 7,300
201 LPr2 | 25,200 21,600 3,600
01 AFR2elt] 2,000 8,400 3,600
OoIAHY A=W L2
1,000,002 * 122 2,000
;2 Zz2Y 13,200 13,200 0
OZZ22 2 AA 3,200
~2HR3 1,000,002 * 122 2,000
—BIEeHR 3 300, 0002 43| 1,200
405 RrAHFSH] 3,700 0 3,700
01 KHAYSEHSH] 3,700 0 3,700
O2AESD| 700,0002! *1CH 700
Ol ol 2,100,000% *1CH 2,100
OFLUSES MAHOALEY S|
900, 00024 #1CH 900
sury 2SN 124,850 124,850 0
01 YurBAZ 124,850 124,850 0
05 E-2/-UHEBSEH3 124,850 124,850 0
Os® 114,800
—ag 200, 00021 %358 ¥143] 98,000
—5lo|EA 4G 20,0002 *36% +25| * 122 16,800
Otz sy 25,0002 %2012 23| 10,050
MRS B2UASI) 6,000 5,000 1,000
01 YsBAZ 6,000 5,000 1,000
10 BANOESS 6,000 5,000 1,000
OMRE 22 2SI HEHAEHOK 24
i 6,000 *50% *23| * 102 6,000
S FAN2Y 71,004 71,264 260
A2 2| 71,004 71,264 2260
201 L2yl 67,664 71,264 23,600
02 ZZ=2ZHI 67,664 71,264 3,600
OZZ22 2 AA 25,160




SN MRS

M JdA1Es FUXXEH 2
ol £ HARSY (et9l: 22
N EE - SI(3) - HEAY - BES sk e 2t
—MIIe3 1,500,000 123 18,000
—dot+ER3 230,000& x12& 2,760
—JIEt 323 & AAl 250,000& 122 3,000
—XEEE=E 1,000,000& = 1CH 1,000
—OIEXNEE = 200, 000& »2CH 400
O =l 18,000
—SAARZ 1,500,000& x12& 18,000
OA&&HIS XL 16,704
— & AR X 500,000& x12& 6,000
—R01ZHl+==g 220,000& 123 2,640
—Z At 2teldl 132,000& 12 1,584
—sZJISsX 2] 240,000& 123 2,880
—JIEtAlE ZHI =Xl HI 300,000& 123 3,600
OXt&Hd| 4,200
—0lE X=Xl 50,000& =12 600
— A& X 300,000& 122 3,600
OFANESY YBt=ZH| 300,000& 123 3,600
405 XHeHESH| 3,340 0 3,340
01 XA ESEH=HI 3,340 0 3,340
OYAE ZXIAH (W AHAH) 100,000 *30H 3,000
OT (& Z0l) 170, 000& 24 340
=3 A 30,000 30,000 0
QIS EALE &l 30,000 30,000 0
401 Al&HIZ =20 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OF0l=J A I 30,000,000& 30,000
HY2LZHI(AUHRATS) 92,943 91,147 1,796
A2 40,083 38,047 2,036
=24l 40,083 38,047 2,036
101 el H] 26,863 25,487 1,376
09 RIAHAZZIE=S 26,863 25,487 1,376
OF A2t & 26,863




SN AHRIS
By SHSAAH (MHRIS)
chel: o122yl (S5l & 2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRz2
SR 816,280% 1%+ 122 9,796
—Jl&==g 816, 280& *400% 3,266
—otEag 20,0002 x22 122 480
— U2 6,390 x1H«15A 2tx 12 1,151
— 5422 34,0803 *1.5+2 128 1,227
PN = 34,0802 x 18202 682
—Z A S A 80,000& x1&H~ 123 960
—uWSE X4 140,000& »1H 122 1,680
—ZE SOt 816,280& *150% 1,225
— JHAI X & 816,280 x200% 1,633
— 22143
3,359& «BAl 2H+65%+ 18 « 12 3,773
— Mg 30,0008 1 122 360
—MHEEE 26,228,970& *24/1,000 630
203 HEF=4H 11,420 10,760 660
01 JIZ2EHRFAH 7,900 7,200 700
OJI22ZHRF4H] 7,900,000 7,900
02 FHEINHRFAH 520 560 A40
O L RETY| 40,0008 132 520
04 BEA2ELRFIH 3,000 3,000 0
ORN2gLRETY| 250,0002! 122 3,000
204 XRLHAY) 1,800 1,800 0
01 M= HF 1,800 1,800 0
osd 150,000& 18122 1,800
Jl=&Hl 52,860 53,100 A 240
=34 52,860 53,100 N 240
201 LEHEEH| 24,960 25,200 N 240
01 ARzl 24,960 25,200 A240
ORAM=2Y 100,000& «13E x 12 15,600
ozl 60,0002 132 »122 9,360
202 O4Hl 23,400 25,200 A 1,800
02 FHHOHI 23,400 25,200 A 1,800
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2 AU2sS
M MUR2s FUNXHEH 22

chel: EOINEIME B4 (S5 & 2)
_ _ SIEN
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
NEE 462,370 362, 153 100,217
NS FURIME 29 377,195 285,791 91,404
ZOIXXIME 25 242,610 182,070 60,540
FONRME 2 139,400 84,660 54,740
201 L2yl 27,400 27,400 0
01 ARl 22,400 23,400 A1,000
OFURXME S| 500, 0002 *122 6,000
OFUMXIME +LMDE YL R0
2,000,0002! 2,000
OF UMY 50 Fusg
30,0002 ¥252 * 122 9,000
OFOITXIME £ AX H& 3,000,002 3,000
ouAZ 2| 20,0002 *122 2,400
03 A2 5,000 4,000 1,000
OFURAME HBLE U HAIS
3,000,00024 3,000
OFUNAMEL D8 L 28 2,000,002 2,000
203 YREAY| 600 600 0
CIEEREEETY 600 600 0
ONFAY 85 =¥ 600,0002! 600
01 YuBAZ 48,600 54, 160 75,560
10 BAAHIZAS 48,600 54,160 5,560
OFURRIME THRABAK A 24
20,0002 1602 * 122 38,400
OFURIME ALR2l IRASAKX Al
Y 20,0002 %2 %2552 0,200
401 AlEHI L2 50,000 0 50,000
01 Al&H] 50,000 0 50,000
OHSRA HIBA 15,000, 00024 #14] 15,000
O#A HiZ TA 10,000, 0002 * 14! 10,000
OSTRA HiE ZA 5,000,0002! *14} 5,000
FURKME SHFA KBS BM
20,000,000 14! 20,000
405 TarFE S 2,800 2,500 0,300

01 A =SSFHSHI 11,800 1,500 10,300




SH: MRS
Hal: AES FUNKMEH 2
chel: EOINEIME B4 (5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
OWLterd] 2e(59.5m) 1,200,000 *1CH 1,200
ONOIEE DAY [HE A 7Y
150,0002! + 104 1,500
O & (B 4) 7Y 200,000 *1JH 200
OARE A%t 7Y 200,000 *1JH 200
OSTHE % 4Tt 7Y 700,0002! 1} 700
OZYIRIE(HOIN) 2 4,000,008 *1CH 4,000
Okeinal 20 B2 ALH 7Y
1,000, 0002 *4CH 4,000
02 ST 1,000 1,000 0
OFANIME SHY EHTY
10,0002 *1002 1,000
EEES RIS 18,000 13,200 4,800
201 Lpr2 | 18,000 13,200 4,800
01 At 2el| 9,600 6,000 3,600
ORIABHARET +2H| 800,0002! *122 9,600
02 ZZ2YH| 8,400 7,200 1,200
eEX:I-E= 600,0002! *122 7,200
OPE2HR3 100,0002! *12% 1,200
SuZasHe 79,210 79,210 0
01 YerEaz 79,210 79,210 0
05 -2 EES2=43 79,210 79,210 0
Osz2+Y 200,000 22 *143] 61,600
OSZSIBALY 20,0009 +22% 23|« 128 10,560
OptE4+g 25,0002 * 1412 x23] 7,050
WREB220HST] 6,000 5,000 1,000
301 LB 6,000 5,000 1,000
10 BAAHIZAZ 6,000 5,000 1,000
OMRESZSULSI| HEAEHOIKS A
6,00024 502 x23/ * 102 6,000
SHNRY 104,585 73,721 30,864
A2 2| 38,085 28,721 9,364
201 L2yl 29,085 26,721 2,364
IEEEET 29,085 26,721 2,364




SN MRS
M NIHE2E FURXME 2
ool SHAL2Y (5l &2
_ _ HE T
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
OZ322 % MA 9,885
~®I123 625,002 * 122 7,500
—&0H4E 23 60,0002 * 122 720
~BEXLE2 925, 00024 #1CH 925
S 70,0002 #2CH 140
—JIEZ3R3 ¥ MA 50,0002 * 122 600
OI=EL 7,800
—CAIARS 650,000 * 122 7,800
ON&ZHIS b 4,800
—HA L ABE KR
100,002 * 122 1,200
S ELIECE] 1800002 * 122 2,160
—FA skl 20,0002 %122 1,440
Ot 4,200
~BEX2AY) 3,600,00024 3,600
—0IZXS XY 600,000%! 600
OFAN2Y YsrsgY| 200,0002! * 122 2,400
401 AlEHIL O] 6,000 0 6,000
01 AlZH] 6,000 0 6,000
O# 49 HA &X ZAb  6,000,0008 14 6,000
405 THHE S 3,000 2,000 1,000
01 XHALSEFHSH] 3,000 2,000 1,000
O#AE WA 100, 0002 *307H 3,000
B ALEH N & 66,500 45,000 21,500
401 AlSHIL =0 66,500 45,000 21,500
01 Al 66,500 45,000 21,500
OFA ®3 24 BA 22,000, 00021 *14] 22,000
ORIEFS 7 H2H BA
22,000, 00021 *14] 22,000
OF1 W24 BA 15,000,0002 * 14! 15,000
OIRA DICIOf 2tel &X| BA
6,500, 00021 #14} 6,500
OBA 35 8D & 2234
1,000, 0002 * 14! 1,000




SN MRS
HH: NS FURIME 29
El: FRI=JAAY (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
FU=RAY 30,000 30,000 0
FOSEALE &bl 30,000 30,000 0
401 Al &BIZ20HYI 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OF2=3 At bl 30,000,000& * 14! 30,000
HY2IZH (MUA2S) 85,175 76,362 8,813
ol 2| 35,155 33,462 1,693
oI 2| 35,155 33,462 1,693
101 Q24| 23,315 22,222 1,093
09 RIAHAZZXE=S 23,315 22,222 1,093
O Ar2e & 23,315
—JlI2a 816,280 x 1 » 122 9,79%
—J|Zg 816,280 * 1 x400% 3,266
—IE=E 20,0003 x1H =122 240
—Z22EY 6,390 x 1 x15A| 2tx 12 1,151
— Xt 34,0803 x1H »18Y 614
— Y22 34,0803 *1.5x22 x12& 1,227
—HHgaly| 80,000& x1H »12& 960
—wWE2 LI 140,000 1H x 122 1,680
—HE SOt 816, 2803 »150% 1,225
— JHAI X & Y| 816,280& »200% 1,633
—2B5tA3 3,350& *x8A| 2t x65%*3E « 12 628
— MG 30,0003 *1H«12& 360
—MHEE = 22,272,590 *24/1,000 535
203 SR F&H| 10,040 9,440 600
01 JI22GYRFL8Y| 6,600 6,000 600
OJ 222 F&| 6,600,000 6,600
02 HAINMHRFEI 440 440 0
OZ It 2= &ld| 40,0002 11 440
04 RBEN2IYRFLEYI 3,000 3,000 0
OFA2ELRFEHI 250,000& * 123 3,000
204 FPLsAY| 1,800 1,800 0




SA: AHE2S
Hu: ANS AT (AUHS)
cHol: ol 2o y] (69 &8
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
IIEEEEEEEET] 1,800 1,800 0
ONUZ LR LAY 150, 00084 %12+ 122 1,800
=2y 50,020 42,900 7,120
122l 50,020 42,900 7,120
201 pr2oy| 21,120 19,800 1,320
01 At=2telt] 21,120 19,800 1,320
ORNSY Yot+g 10,0008 #1124 122 13,200
L 60,0002 112 * 122 7,920
202 01t 19,800 19,800 0
EEEE 19,800 19,800 0
OF %01t 150, 00084 %1124 * 122 19,800
405 XHarE S| 9,100 3,300 5,800
01 MALSZFSH| 9,100 3,300 5,800
OEST[EERLT 500,000 *2CH 1,000
OBAFBI 2 700, 00084 #1CH 700
OM2E oX 2Y 200, 0002 *17H 3,400
OwLrer|(132.2m') 7 2,000,000 *2CH 4,000




SN NS
M2 NRE3S FURNAME 2
(u)

ool FOIRXIME B (£ @8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
ATH3S 440,856 340,048 100,808
MRS FOAIME 2 366,575 269,480 97,095
ZOIRXIME 245t 278,639 194,520 84,119
ZOIRAME 2 138,680 106,900 31,780
201 ereo| 34,200 26,000 8,200
01 At2telt| 21,200 20,000 1,200
OFARIME 22| 600,000% 122 7,200
OFURXMEY +2U2Y 282
2,000, 0002 2,000
OFOIRXIME AAX 22t 3,000, 0002 3,000
OFSIRXAL 5l0] BALT
30,0008 *25% * 122 9,000
03 A2 13,000 6,000 7,000
OFARIME HEMA L LHS
3,000, 0002 3,000
OFSINXMEZ DE L 248 2,000,000 2,000
OFARIME 424 93 4,000, 0002 4,000
OFQARIIME SMLH ZAZ
500,000 *83] 4,000
203 YREA| 600 600 0
03 ANZZALEAY] 600 600 0
OANBA 85 W 600,000 600
01 YerEaz 85,380 76,200 9, 180
10 BAAHIZAZ 85,380 76,200 9,180
OFSINKME RNRAZAK A2 4
20,0002 20284 * 122 70,080
OFARIME AL22l HZAKX A
2y 20,0002 *3% %2552 15,300
405 XtarzE S| 18,500 4,100 14,400
01 KMUSEFSH] 18,500 3,100 15,400
Oslolal 2ARE(SUEZE)
1,400,000 *2CH 2,800
Oslolal HOIMIT2IE (M) 7000008 *1CH 700
O EHALRID) 500,000 »1CH 500
OHItIQ Z2ME 5,000, 0002 2L} 10,000
ovItI2 ozt 1,500,000 *1CH 1,500




SH: AHR3S
ol AVS FUNRMEH 2

el FUXXLEH 435 (chel &)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
oldzea At=E 500, 0003 *34] 1,500
Ooa2as 2% 500,000& *34! 1,500
QAR 2 23,200 14,400 8,800
201 LBHEHH| 18,000 14,400 3,600
01 At=2teldl 9,600 6,000 3,600
ORIAHZARFA =FH| 800,000& * 123 9,600
02 ==29gtl 8,400 8,400 0
O=23g=3 ¢ HA 8,400
—RURS 600,000& »12& 7,200
—ERERS 100,000& *12& 1,200
405 THAHHE SHI 5,200 0 5,200
01 L =SHSEHI 5,200 0 5,200
O& 37| 400,0003 = 1CH 400
oz 2,000,000& *1CH 2,000
Oolaa AFH(ZLIEEE)
1,400,000 *2CH 2,800
sHE 2= A& 74,120 68,220 5,900
301 YBtEa= 74,120 68,220 5,900
05 S-c2l-tEes2a3 74,120 68,220 5,900
OF=F 62,320
—=4 200,000 x19% x 143| 53,200
-3 oA 20,0003 19 x23] x 12 9,120
ObtE¢ 50,0003 118 x23| 11,800
MWRe =22 &0 11,000 5,000 6,000
201 Lt 5,000 0 5,000
01 At 2eld] 5,000 0 5,000
OFAHH EEZ HH 2002 *15,0000H 3,000
oZ0E HE 20,0003 10074 2,000
301 YotEaEz 6,000 5,000 1,000
10 SAIAHIEAS 6,000 5,000 1,000

ONMRe=2=22USI| HEL 0L =4

Hl 6,000% x50 x22/ * 10 6,000

A2A2 SE210 =29 31,639 0 31,639
I




SH: AHR3S
M MRS FLUXXEH 2
el FUXXLEH 435 (ctel &
SN B SRA(SIH) - MBAY - BAS 0l &k o4 e HlnE2
101 @IH| 11,439 0 11,439
10 JIZtHZ2Z2NSEx 11,439 0 11,439
OXac Mz 2eE 11,439
== 35,5703 »1H #2552 9,071
—Rasdsg 35,5703 x 1«52 1,850
—AXt=E 35,5703 x1E +123] 427
—MHEEZ 11,346,830 *8/1,000 91
201 ZEH2EH] 8,700 0 8,700
01 AtR2teldl 8,700 0 8,700
OEMEEE 423 1,000& *3,200& 3,200
O AM2el Z23(0Li) 4,000,000& 4,000
OXETNME AlE & &X 1,500, 000& 1,500
405 XH&HFSHI 11,500 0 11,500
01 XX EFHSHI 1,500 0 1,500
OZ A2 dioIMZ_IE (ME) 700,000& »1CH 700
ORHtE3AZ eld| 800,000 800
02 =M 10,000 0 10,000
oM7Y 10,000& *1,000& 10,000
= IN2Y 57,936 44,960 12,976
FA2Z 3 54,936 44,960 9,976
201 Lt 3| 49,936 44,660 5,276
02 232934l 49,936 44,660 5,276
O=323 2 HMA 16,880
—&IIe3 1,250,000& x12& 15,000
—doteER3 100,000& =123 1,200
—0IEXNEE = 80,0003 «1CH 80
—A4ENHEER 600, 000& *1CH 600
@)E=1:] 14,400
—SAIIARE 1,200,000& x12& 14,400
OAM&EHBISXIHI 11,456
—R01ZH+==3 207,000 * 123 2,484




SN AHR3S

M MHAs FUAXMYE 2
ol £ HARSY (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
— & A gat2teld| 135,000& « 123 1,620
—SZ w2l 165,000& =12 1,980
—0lE X=Xl 100,000& *12& 1,200
—Hldl =Xl 22l 26,0003 64! x 128 1,872
— 0l =Xl &l 500,000 500
—JIEt A& S XEHIKR XY
150,000& = 12& 1,800
OXtt| 4,200
— &KX 350,000& * 123 4,200
OF A2 Yet==2H| 250,000& 128 3,000
405 XH&HFESHI 5,000 300 4,700
01 T ESSFHSHI 5,000 300 4,700
OHAIZER 100, 0002 *50H4 5,000
HALEHZ A 3,000 0 3,000
401 Al&HIZL20HYI 3,000 0 3,000
01 A&l 3,000 0 3,000
Ot=2&4 meld &X 3,000, 000& 3,000
FU=2AY 30,000 30,000 0
FOEHALE FU| 30,000 30,000 0
401 AUl =204 30,000 30,000 0
01 A&l 30,000 30,000 0
OF0l=3 At | 30,000,000 * 1A 30,000
B 20 A | (A RBE) 74,281 70,568 3,713
ol 2HH| 37,081 33,668 3,413
olEd 2| 37,081 33,668 3,413
101 el | 25,281 22,468 2,813
09 RIAHAZZ2XNES 25,281 22,468 2,813
OFAt2tel & 25,281
—JlEs 816,280 x 1~ 122 9,79%
—J|2==g 816,280& *400% 3,266
— X2 6,390 x1H x15A| 2+x 128 1,151
-5 34,0803 *1.5+x22 x12& 1,227




SN ARASSE
ma: N2y (A0E3E)
Crol: olst e oyl &l
S E O (EH) - MRAY - B s e
- o= T ° - (= (=3 =5 O:H{ﬂ,%
— A gAY 80,0003 1H«12& 960
R PNE= 34,080 x1H »15 512
—wWEZE LI 140,000 1H x 123 1,680
—HEFOHY| 816, 280& »150% 1,225
— JHAI X & Y| 816, 2803 x200% 1,633
—2z01a3
816,280& /243 A| 2+ *8 Al 2H+65%+ 114 3 53
—MHEE = 21,901,000 *24/1,000 526
— M= 30,0003 *12& 360
—EE 130,000& *12& 1,560
— s EErE 333,000& x4Z | 1,332
203 HRF&H 10,000 9,400 600
01 J|I22HHRFL| 6,600 6,000 600
OJ 22 YR =48l 6,600,000 6,600
02 HAINMHRFEI 400 400 0
OF It R F=&d| 40,0003 109 400
04 REN2ILRFLAY| 3,000 3,000 0
OFMSEYRFAI 250,000& 128 3,000
204 HeasAy| 1,800 1,800 0
01 HHMSHASAHAH 1,800 1,800 0
Oos% 150,000& 1H =123 1,800
| =ZHl 37,200 36,900 300
Jl=23tl 37,200 36,900 300
201 Let3| 19,200 18,000 1,200
01 AtER2teldl 19,200 18,000 1,200
OFAEY Let=2H| 100,000 * 10K * 123 12,000
OF=1=i:] 60,0002 10H «12& 7,200
202 O4Hl 18,000 18,000 0
02 AN 18,000 18,000 0
O U0l 150,000& =102 x12& 18,000




SN SHHES
o SRS FONIMEH 29
o9l FUIRXIME 245 (S5 &)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
I 434,911 344,066 90,845
SIS FOURNKME 29 362,450 262, 174 90,276
ZOIXXIME 25 215,610 188,350 27,260
FONRME 2 103,400 78,000 25,400
201 Yeregy) 26,000 22,000 4,000
01 ARl 18,000 18,000 0
OFURXME S| 500, 00021 %122 6,000
OFOITXIME AL 22t 3,000,000%! 3,000
OFQURAARE 59 HALY
30,0002 x25% * 122 9,000
03 A2 Y] 8,000 4,000 4,000
OFURNAMEH T2 HEXA L LH
3| 3,000,0002! 3,000
OFURKME DE L A8 2,000,0002 2,000
OORIOIHE DA U SMAH 29
500, 0002 *63! 3,000
203 YREIH] 600 600 0
CIEEEEEETY 600 600 0
ONE-WEES 600, 0002 600
01 Y 70,200 54,400 15,800
10 BANOESS 70,200 54,400 15,800
OFURIME K& SAR A2
20, 00021 %2502 122 60,000
OFURIME ALR2l IASAKX Al
E2Y 20,0002 %2 %2552 10,200
401 AlEHIL =20 5,000 0 5,000
01 Al&d] 5,000 0 5,000
OFURIMEH HAT L 58 oY &
%l 5,000,002 * 14! 5,000
405 XarE S 1,600 1,000 600
01 TUUSEFHSY] 600 0 600
Ot 600, 00024 +1CH 600
02 TATY 1,000 1,000 0
O= M7 10,0002 %1002 1,000
plEle e 2 24,100 16,000 8,100




SN SRS
B GRS FOUXNAME 2
Chol: FOIRXIME A3 (Er9): & 2
_ _ _ Muo
SN -BH - S(B) - MRAY - BES Off &F oA il b o HRE2
201 sy 19,800 16,000 3,800
01 At 10,800 7,200 3,600
OPRBTD =X 2P| 90,0002 122 10,800
;2 Sz 9,000 8,800 200
OZZR2 ¥ HA 9,000
—2He3 700, 000! * 12 8,400
—pis 2HeZ 50,0002 122 600
405 Xher3 St 4,300 0 4,300
01 RHMUSBFHSH] 4,300 0 4,300
OBAEST] 700, 00021+ 1CH 700
Ooloigiols)] 2,100, 00024 *1C4 2,100
OFpSE3 Mgzad 1,500,0002 *1CH 1,500
Se% 25 X8 82,110 89,350 AT7,240
01 YprBaz 79,110 89,350 A10,240
05 S-2-B¥esSTN 79,110 89,350 A10,240
Osz+Y 200, 00021 %2283 143| 61,600
Ot E+g 25,0002 +139% 25| 6,950
OS® slolaa 44
20,0002 +222 x25] + 122 10,560
401 Al&HI L2 3,000 0 3,000
01 AlZH] 3,000 0 3,000
OF YA B &3 3,000, 0002 3,000
Y EEE=EEE=S] 6,000 5,000 1,000
01 YprBaz 6,000 5,000 1,000
10 BAMHEAZ 6,000 5,000 1,000
OWREBSUNESI| HBL O 24
bl 6,002 +502§ x25]+ 102 6,000
SEARY 106,840 43,824 63,016
A2 P2 49,640 43,824 5,816
201 B2 49,640 43,824 5,816
01 ARl 2,400 1,200 1,200
OFA2Y YB+8H 200, 0002 * 12 2,400
;2 T2 47,240 42,624 4,616




M SHHAS

M GRS FOUNKME 2
ool SHANSY (9l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 BlusZ
OZZL3LMAl 19,200
-Pll=E 1,200,0008! * 1284 14,400
—dol+ERea 150, 0008 * 128 1,800
—2EHE L JIEHIAI 250,0008 * 128 3,000
ool 2| 1,200,000 * 1284 14,400
OA&ZHIR XL 9,540
—HA L AEE KX el
500, 0008 * 128 6,000
—2oAY 47 185,0008 + 128 2,220
—F A Zatere| ] 10,0008 * 1224 1,320
Oxtet| 4,100
—RENB(LEH) R 300,0008! * 1284 3,600
—0lEX KX 500, 0008 500
B ALEHZ N 57,200 0 57,200
401 A&HILSHY 52,200 0 52,200
01 Al&l 52,200 0 52,200
A5HH FEDIDN L HAZRI| 243
Ab 6,200,000% 14} 6,200
OXISHS LAl 16,000,0002! * 14! 16,000
O3% M=l ZXIZA 14,000,0002! * 14! 14,000
035 292 2 DINHYX A
8,000,002 14} 8,000
035 BoSHFAL &1 8,000,0002 14} 8,000
405 XHaHE S| 5,000 0 5,000
01 RULESEFSH] 5,000 0 5,000
OES-CIEIN 5,000
—STANE 1,500,0009! x2AI € 3,000
—QITHIIE oI T 500,000 x4 2,000
FoIHAALY 30,000 30,000 0
ZOIZBAE H| 30,000 30,000 0
401 Al&HIL=HY 30,000 30,000 0
01 Al&H] 30,000 30,000 0
OZ=QI=2 A Y] 30,000,000 30,000




I8 0
M0 Mo rio
02 02 oM
=)V
[=o
o
o
o
0

['9 OOII ol

M-8 SRI(310) - MRAY - BeS sl e HlRE2
2 ZHI(GtHES) 82,461 81,892 569
A2 39,761 37,792 1,969
A2l 39,761 37,792 1,969
101 el2h] 27,961 26,552 1,409
09 RIAHAZZIHES 27,961 26,552 1,409
O&F A2l A 27,961
—JlEs 816,280 x1& + 123 9,796
—&0= 816,280& *400% 3,266
— JHAIXI & 4 816, 280& *200% 1,633
—HEF Ot 816,280& »150% 1,225
—nsEXH| 140,000& »1H 122 1,680
—g Al 80,000& x1H +12& 960
—2z01a3
816,280 /243 Al 2Ex8 Al 2Hx65%*23E x 128 4,822
A= 20,0003 »2H 128 480
-2 34,0803 *1.5+x22 x12& 1,227
—Al2telY 6,390 x15A| 2tx 12 1,151
— Pl 30,0003 *1H«12& 360
— Xt 34,080 x 1 +20 682
— A2 MHEE =
28,259,000& *24/1,000 679
203 HEF=4H 10,000 9,440 560
01 JI22dPRF=8Y] 6,600 6,000 600
OJI22Z YR8 6,600,000& 6,600
02 HINHPRF=EY 400 440 A40
OF AP RZ=AHI 40,000 *10¥ 400
04 BEA2EYRFIH 3,000 3,000 0
ORN2ZYRFAH 250,000& 123 3,000
204 HeLAY| 1,800 1,800 0
01 HMSHR=AHH 1,800 1,800 0
OX MG HRF=AH| 150,000& =122 1,800
ZHl 42,700 44,100 1,400
=3l 42,700 44,100 21,400




SN GRS
Y HH2HAH (StHAS)
e D=3l (el &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
201 LAY 19,200 19,800 A 600
01 At=2teldl 19,200 19,800 A600
SM2ZHI 100,000& «10E =122 12,000
Or=1=i:] 60,000& 10 12 7,200
202 Od4dl 18,000 19,800 21,800
02 HNHI 18,000 19,800 21,800
OZ A0l 150,000& «10H x 123 18,000
405 eS| 5,500 4,500 1,000
01 XA ESEH=HI 5,500 4,500 1,000
OB AESED] 700,000& 1CH 700
O 1(230L) 300,000 = 1CH 300
OH XK= AL 4,500, 0002 *1CH 4,500




TES
CES FONXMEH 29
FOIXXIHE 245 (Stel-&3)
_ _ _ HEC
2N -3 - c2(3H) - NEME - HES Ol & bﬂ/l\_FOH Hns
TES 224,481 386,096 AN 161,615
EE=Es FUNIEEH 29 160,470 308,984 AN 148,514
FOIXXHE 2435 94,650 116,880 N22,230
FOXXHEH 2H 29,840 41,300 A 11,460
201 LEtEAY| 16,720 15,500 1,220
01 AR 22|l 14,720 11,500 3,220
OF0RXHEH 29| 400,000 x12& 4,800
OF0XNXMH T2 =2 2,000,000& 2,000
OFCITXAKL S 3|9 Azt
30,000 22 x 12 7,920
03 SAISHHI 2,000 4,000 A 2,000
OFOXXMEHZt s L AS 2,000,000& 2,000
203 YRFL&Y| 600 600 0
03 AMF=XAIFZAIH| 600 600 0
OANEAIZ &25F2 600,000& 600
301 LEtEAS3 11,520 24,200 A 12,680
10 SEAAHIEAZ 11,520 24,200 AN 12,680
OF0TXIME XHESALX AH 24
20,000& x48H x12& 11,520
405 XHaHFESHI 1,000 1,000 0
02 T M7 1,000 1,000 0
OFOXXAH EA 2 10,000& =100 1,000
DIRAAIHE 29 15,900 13,500 2,400
201 BtEIH| 15,900 13,500 2,400
01 AtR22id] 8,400 6,000 2,400
OURSE DM £8H 700,008 122 8,400
02 =324l 7,500 7,500 0
O2222 2 HA 7,500
—RERZ 600,000& x12& 7,200
—ERERZ 300,000& 300
S, 6t gsX3 42,910 57,080 A14,170
301 Let8gAaa 42,910 57,080 A14,170
05 S-2l-Ees2a3 42,910 57,080 AN14,170




FQUXNXMEH =29
AXIHE 243t

S CR(BH) - MRAY - BES Aro e Hlm= 2
OF=F 39,360
—==g 200,000& x12H x143] 33,600
—3oFAg 20,0003 12 »23] x 123 5,760
ObtdE¢ 25,0003 *71H +23| 3,550
HZRet ==2 2HED| 6,000 5,000 1,000
301 Lptsazg 6,000 5,000 1,000
HALAHIEAZ 6,000 5,000 1,000
OMRet =222 2SI 3L 0L S
AlH| 6,000& x50 «23| x 102 6,000
t2d 35,820 162,104 A 126,284
HA2g 3| 35,820 70,604 A34,784
201 LBHEHH| 35,820 53,604 217,784
AtS 2telHl 2,400 18,300 A 15,900
OFANEYE Lt | 200,000 * 123 2,400
232 ZHl 33,420 35,304 AN 1,884
O=3g3 & HA 23,600
— A A 22l 800,000& »12& 9,600
—&IIe2 1,000,000 x12& 12,000
—2&z 2 JIEHAIA 2,000,000& 2,000
@)E=1:] 1,800
—SAIIARS 150,000& =123 1,800
OA&EHIS XL 3,220
—RoZHlex2 185,000& «12& 2,220
—&A 2 AIEZEEl 7A2cld
1,000,000 1,000
OXtH| 4,800
— X=Xl 300,000& x12& 3,600
—0lE X=Xl 100, 000& * 123 1,200
AL 30,000 30,000 0
SHALEE 2| 30,000 30,000 0
401 AUl 204 30,000 30,000 0
INE=1:1 30,000 30,000 0
O=0l=3 At | 30,000, 0003 * 1A 30,000




A EES
. AHYL2ATU(=ES)

R o2 ==
SN -3 S2ARAH) - MFAY - BES Ol &F 8 gl,'igig Husz
HH2EZH(EES) 64,011 77,112 213,101
ol 2| 34,251 33,212 1,039

oy 2ay 34,251 33,212 1,039
101 QI24H| 22,531 22,132 399
09 RIAAZEXES 22,531 22,132 399

OF A2l & 22,531
—Jl22 816,280 x1& »12& 9,796
—Jg=< 816,280% * 1 x400% 3,266
—?d+g 30,000 1123 360
—zh22*E 6,390 x 1« 15A| 2Hx 122 1,151
—52¢22rd 34,0803 «1.5+2& 122 1,227
—AAXteg 34,0801 15 512
—=A4tl 80,0002 18«12 960
— WS 22Xl 140,000 »1E * 122 1,680
—HE S 816,280 1 »150% 1,225
— JHAIXI 28I 816,280% *1&E x200% 1,633
— 2= 2

816,280 /243 Al 2H*8A| 2t x65%+ 11+ 11 193
—MEEgR 21,998,000& x24/1,000 528

203 YPEAH] 9,920 9,280 640

01 JIA=EERF4H| 6,600 6,000 600
Ol 2=2g8g 4| 6,600,000 6,600
02 AP I =AY 320 280 40
OFaIMMERFA| 40,0002 8¢ 320
04 FA=EERFIH 3,000 3,000 0
ORAZEgFFA 250,000& 122 3,000

204 HRLHAY| 1,800 1,800 0

01 M SER+SS| 1,800 1,800 0
Oos¥ 150,000& ~12& 1,800
J|2AH| 29,760 43,900 A 14,140

Jl2dl 29,760 43,900 214,140

201 2etEg 15,360 12,600 2,760
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UYL LAY (TES)
7|22

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ

01 At 2teldl 15,360 12,600 2,760
ORANRY Letx2H) 100,0002 x8 % *12& 9,600
O= &l 60,0003 x8H x12& 5,760

202 O4dl 14,400 12,600 1,800

02 Mot 14,400 12,600 1,800
O" M0t 150,0002 «8 12 14,400




	세출예산사업명세서
	중원구
	총무과
	시민과
	세무과
	주민생활지원과
	경제교통과
	환경위생과
	건설과
	건축과

	중원구(동)
	성남동
	중동
	금광1동
	금광2동
	은행1동
	은행2동
	상대원1동
	상대원2동
	상대원3동
	하대원동
	도촌동



